9/29/22, 9:14 AM about:blank



In following-up, pls. cite DMS ref #

2022-BF-0122789-E

REPUBLIC OF THE PHILIPPINES **DEPARTMENT OF BUDGET AND MANAGEMENT**

GENERAL SOLANO STREET, SAN MIGUEL, MANILA

ACKNOWLEDGEMENT RECEIPT

The **DEPARTMENT OF BUDGET AND MANAGEMENT** hereby acknowledges the receipt of your letter/request which has been uploaded to the DBM-Document Management System and routed to the appropriate office/s with the following information:

Sender: PCAARRD - PERSONAL DELIVERY

Document Title: PCAARRD IV-A-APP-CSE 2023

Document Reference No: 2022-BF-0122789-E

Date and Time Uploaded: Thursday, September 29, 2022 9:09:23 AM

Uploaded By: CRD RECEIVING GLENN

Routed To: BMB-F CAMILLE J. VENTURA

CC:

Total no of pages received: 1 copy and 28 pages

The determination of the completeness of the documentary requirements submitted, if any, is subject to the evaluation of the technical person in charge.

This receipt is system generated and does not require signature.

Received by:



about:blank 1/1

APP-25E 2073 FO-M ANNUAL PROCUREMENT PLAN - COMMON-USE SUPPLIES AND EQUIPMENT (APP-CSE) 2023 FORM

Introduction:

This form contains the common-use supplies and equipment (ISE) carried in stock by the Procurement Service - Department of Budget and Management (PS-DBM) that may be preclased by government agencies. Consistent with the DBM Circular No. 2018-10 dated 06 November 2015, the APP-CSE shall serve as the agency's annual procurement request for all its CSE requirements. Only agencies with uploaded APP-CSE in the Variual Store will be able to purchase CSE from the PS-DBM. Note that the items Fetad on this form have been suranged in accordance with the United Nations Standard Products and Services Code (INISPSC) in preparation of the APP-CSE in the Variual Store will be able to purchase CSE from the Variual Store will be able to Electronic Procurement System (MGEPS).

1.0 The APP-CSE form must be accomplished using Migrasoft Excel format. The APP-CSE shall be decided incorrect or invalid # the form used in other than the prescribed format which is download-able from the Virtuel Store.

Los Ballos, Lagura

- 3.0

- All information must be provided accurately.
 Kindly refer to the CSE catalogue on the PS-DRN websits (www.b-p-childeps.gov.ph) for the desailed technical specifications and sample photo of the items.

 Do not include, add, or revise any items are rows on the PART I of this terms are rows on the PART I of this terms are rows on the PART I of this terms will be desarred in wall be desarred in wall to the form.

 Additional rows for other items may be leasted in PART II. If security is any applicable in the PART II of the form.

 Does desarred and autonomed by the Property Suspin Officer. Accountable I successful officers in the original officers are visit as the original stated door in Portable Document Format

 Should there be changed in the agency of the approval on their uploaded APP-CSE directly on their Visual Store account. However, the agency new add their uploaded APP-CSE directly on their Visual Store account. However, the agency new and approved copy of the supplemental APP-CSE form is available. Note that ull CSE requirements in excess of the quantities indicated in the original APP-CSE form will not be served if not covered by a supplemental APP-CSE.

THE RESERVE OF

For further assistance or classification, agencies may centence the startesting and Sales Division of PS-DBM through its mobile numbers 08182954426 or 09278479245, or email approachaspeephiligens.gov.ph, or visit the PS-DBM website (www.ps-philigens.gov.ph) for the guide on how to fill-out the API-CRE.

Mille: Consistent with the Memorandium Circular 2023-2 served by the AV 25 detect 26 March 2023, the APP-C5E for PY 2021 must be submitted on or before 30 September 2022. Agency Code/LACS: Q-015
Organization Type: Government Contact Person ALEX G. CALUXO Decartment/Sureau/Office: DO:IT-PCAARRE) Admin, Officer (I Position: Fedion: Resign IVA E-mail : Acdress: Page de Valmeyor, Broy. Thrugan Telephone/Mobile No.:

			tion of									Moni	tely Quest	ty Requi	ment				·					Yotal Quantity	Price Cubilogue (m #78.54 2022)	Yotini Annount For this year
		Them Is Specifications	N		Faith	Mar	Q1	PQ THEATHE	Apr	d Hey	June	92	SD TAUGRAN	July	Aug	Eapt	93	ES AND PRI	Oct	(Apre	2000	Q4	AMOUNT THE	FOR MAN POWER	# 3F 34 2022	
PART	I. AVAILABLE AT P	S-DEM (MAIN WAREHOUSE AND DEPOTS)	<u> </u>	d.,																						
- 1	OL OR ACETORIE BASIN									1111									· ·						<u> </u>	
<u>, </u>	12191601 AL-E04	ALCO IOL, Ethyl, 500 ml.	botire	0	0	50	90	2,392.50	0	— •	25	25	1,196.15		1 a	25	25	1.196.25	0	0	0	8	0.06	200	47.85	4,781.00
2	12191601 AL-803	ALECHOL, Ethyl, I Gallon	galfen	ā	0	50	90	16,527.50	0	0	0		g. 0 0	0	a	a	C_	0.00	۵	4	3	8	0.00	\$3	330.55	16,527.50
ARTIE.	HID CRAFTS EQUITMEN	TT AND ACCESSORIES AND SUPPLIES						11.5	¥1, 7	+1 .						- 2				1.0	<u> </u>	<u> </u>				
•	60121413 CE 401	CLEARBOOK, 20 transparent pockets, A4	piere	0	0		0	1.01	0	0	0	0	0.00	0	e ·	0	0	0.00	0	0	,		0.60	t'	72.91	2,00
4	50121413 CB-P02	CLEANSOOK, 20 transparent pockets, legal	piece	0	0	e	6	8.0)	9	0	0	0	0.00	0	9	. 0	0	9.00	0		0	0	0.00	t	36.36	***************************************
	6012153+ 69-F01	ERAS'SR, plantic/ nubber	pieze	0	•	"	0	0.04		0		0	0.00	0	0	0	0	0.00	0	0	,		0.00	1	4.47	7.00
 6	60121524 5P-301	SKSN PEN, Black, Nguid or gel	pie+e	e	0	79	20	449.20	0	. 0	20	20	444.00	0	0	20	20	144.00	0	0	ō		0.06	6)	22.20	1,33.00
,	60121524 SP-802	SKSN PEN, Blue, Equid or gel	piece	0	0	29	20	444, 10	G	0	20	20	444.00	0	0	20	20	.444,00	0	<u> </u>	,		30. 0	63	22.20	1,333.00
<u> </u>	60121524 SP-003	SKSN PEN, Red, Injuid or get	pies a	٥	_ a	23	20	444,70	Q.	a	20	20	441.00	0	0	20	a	-144.00	0	8	0	0	0.00	63	22.20	1,31:00
9	50121124 WR-POL	WRAFFING PAPER, kreft, 50 shoets per pack	pack	0	-	0	0	0.00	a	0	٥	0	0.00	0	0	0	0	8.00	0	0	3	Q C	0.05	į į	161.20	4.00
AUD3	AND YDWAL EQUIPM	DAT AND SUPPLIES													· · ·										<u> </u>	
16	45171517 DO-C02	DOCLMENT CAMERA, 8 MP	unst	a	a	ð	0	0.07	6	0	٥	0	0.00	0	0	٥	0	6.00	0	0	g	0	0.00	e	23,623.60	2.00
11	45111609 MM-P01	MULT (MEDIA PROJECTOR, 4000 ANSI Lizners (min.)	unit		0		0	0.03	0	5	0	0	9.00	В	0	0	ø	8.00	0	0	0	0	0.00	0	16,588.00	2.00
	THE AND CELLS AND A	LCCESHORES																						· · · · · · · · · · · · · · · · · · ·		
12	26111702 8T-A02	BATTPRY, dry cet, size AA, Two (2) pieces per bliskel pack	pack	0	0	57	50	1,024,50	. 0	٥	٥	۰ ا	Q.00	0	0	0	0	0.00	ū	•	.,,	0	0.00	93	20.49	1,024.50
13	26111702 BT-A01	BATTERY, dry sell, size AAA, fivo (2) pier as per blisher pack	p s :k	0	0	39	50	91,7.30	0	0	0	0	9.00	D	. 0	ij.	D	8.00	0	L ₀	1	0	0.00	55	18.34	917,00
14	25111702 fT-M3	BATT'RY, dry cell, size D, Tivo (2) pieces per blister pack	ps-k	0	0	ø	0_	0.00	0	0	0	0	0.00	0	. 0	D	0	0.00	0	0	7	<u> </u>	0.00	t:	96.20	1.00
QUEA,	OFA TRANSPOS	SUPPLIES														.										
15	47131812 AF-401	AIR FRESHENER, Automot type, 150g	can	- 0	0	39	30	2,449.20	۰	0	8	0	0.00	0	0	0	0	0.00	0	0	1		0.00	33	81.54	2,449.20

		Item & Specifications	Unit of					132				Month	hly Quant	ity Requ	irement								Val	Total Quantity	Price Catalogue (c	Total Amount for the year
		Tem & Specifications	Measure	Jan	Feb	Mer	Q1	QS AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ ANDUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 20 Auty 2022)	
15	47131812-AF-A01	AIR FRESHENER, Aerosol type, 150g	can	0	0	30	30	2,449.20	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	30	81.64	2,449.20
16	47131604-BR-501	BROOM, Soft (Walls Tambo)	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	136,24	0.00
17	47131604-BR-T01	BROOM, Stick (Walis Ting-ting)	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	22.78	0.00
18	47131829-TB-C01	CLEANER, Tollet Bowl and Urinal, 900ml 1000ml.	bottle	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	41.60	0.00
19	47131805-CL-P01	CLEANSER, Scouring Powder, 350g	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	23.92	0.00
20	47131811-DE-B02	DETERGENT BAR, 140g as packed	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	.0	0	0.00	0	8.30	0.00
21	47131811-DE-P03	DETERGENT POWDER, all purpose, 1kg	pouch	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	54.06	0.00
22	47131803-D5-A01	DISINFECTANT SPRAY, Aerosol type, 400g	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	139.89	0.00
23	47131601-DU-P01	DUST PAN, rigid non-breakable plastic	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	27.64	00,0
24	47131802-PW-P02	FLOOR WAX, paste type, red, 2kg	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	309.76	0.00
25	47131830-FC-A01	FURNITURE CLEANER, Aerosol type, 300mL	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	120.12	0.00
26	73101612-HS-L01	LIQUID HAND SOAP, 500mL	bottle	0	0	40	40	1,718.00	0	0	40	40	1,718.00	0	0	20	20	859.00	0	0	0	0	0.00	100	42.95	4,295,00
27	47121804-MP-B01	MOP BUCKET, heavy duty, hard plastic, 30 liters capacity	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	0	2,288.00	0.00
28	47131613-MP-H02	MOPHANDLE, heavy duty	piece	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	0	.0	0	0.00	0	124.80	0.00
29	47131619-MP-R01	MOPHEAD, made of rayon	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	122.51	0.00
30	47131501-RG-C01	RAGS, all cotton, 1 kilo per bundle	bundle	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	53.14	0.00
31	47131602-SC-N01	SCOURING PAD, 5 pieces per pack	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	57.93	0.00
32	47121701-TB-P04	TRASHBAG, black, 37° x 40°, XL, 10 pieces per roll or pack	pack	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	144,04	0.00
33	47121702-WB-P01	WASTEBASKET, rigid plastic	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	31.91	0.00
COL	OR COMPOUNDS AND D	DISPERSIONS				313/13						195		A FISCAL	4		100		BEN S	STUE		Carry.	N TO			
34	12171703-51-P01	INK, for stamp pad, S0mL	bottle	0	0	5	5	144.55	0	0	0	0	0.00	0.	0	0	0	0.00	0	0	0	0	0.00	5	28.91	144.55
CON	SUMER ELECTRONICS									11.5												Real line		EAR IS		
35	52161535-DV-R01	DIGITAL VOICE RECORDER	unit	0	0	5	5	36,695.90	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	7,339.16	36,695,90
FACE	E MASK		HE THE BOX												W AS						NS MA	kent.	N/O			是是自己的人们的人们的人们的人们的人们的人们的人们的人们的人们的人们的人们的人们的人们的
36	42131713-SM-M06	FACE MASK, 3 ply, fifty (50) pieces per box	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	77.50	0.00
FILM	IS					Sec.			100						28							TO NO.	, AVA			阿尔斯克拉尔斯斯 尼克斯克斯斯特里亚尼
37	13111203-AC-F01	ACETATE, 50 meters	roll	0	0	5	5	4,849.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	969.88	4,849.40
38	13111201-CF-P01	CARBON FILM, A4, 100 sheets per box	box	0	0	2	2	442.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2	221.00	442.00
39	13111201-CF-P02	CARBON FILM, Legal, 100 sheets per box	box	0	0	2	2	477.08	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2	238.54	477.08
FIRE	FIGHTING EQUIPMENT					TOWN TO						NO.	An of		MEN	40						7.7	Y			
40	46191601-FE-M01	FIRE EXTINGUISHER, dry chemical	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,144.00	0.00
41	46191601-FE-H01	FIRE EXTINGUISHER, pure HCFC	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	.0	0	0	0.00	0	0	0	0	0.00	0	5,613.25	0.00
FLAG	OR ACCESSORIES		ESTA LIAN	N. E.		SIA I																				建物的现在分词是一种的
42	55121905-PH-F01	PHILIPPINE NATIONAL FLAG	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	284.84	0,00
FURI	NITURE AND FURNISHI	NGS			to a poi											MEM		Jac				(congress)		HE IN SE		A SECTION AND PASSED IN COLUMN
43	56101504-CM-801	MONOBLOC CHAIR, beige	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	347.41	9.00
44	56101504-CM-W01	MONOBLOC CHAIR, white	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	344.92	0.00
45	56101519-TM-501	MONOBLOC TABLE, white, 4 seater capacity	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,248.00	0.00
46	56101519-TM-502	MONOBLOC TABLE, beige, 4 seater capacity	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,248.00	0.00

		Item & Specifications	Unit of Measure									Month	ly Quant	ity Requ	irement									Total Quantity	Price Catalogue (se	Total Amount for the year
			Measure	Jan	Feb	Mar	Q1	QI. AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	of 28 July 2022)	
HEAT	ING AND VENTILATION	AND AIR CIRCULATION	A DUTTE						BIRE				1332			ATTE		16719		Ubilis	2 25					DOCUMENTO DE LA COMPONIO
47	40101604-EF-C01	ELECTRIC FAN, ceiling mount, orbit type	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,222.00	0.00
48	40101604-EF-G01	ELECTRIC FAN, industrial, ground type	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,109.68	0.00
49	40101604-EF-S01	ELECTRIC FAN, stand type	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	.0	856.86	0.00
50	40101604-EF-W01	ELECTRIC FAN, wall mount	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	768.56	0.00
INFO	RMATION AND COMMU	NICATION TECHNOLOGY (ICT) EQUIPMENT AND DEVICES AND ACCESSOR	RIES				. 37								2000						The The			1 7	Acri Savoli	
51	43211507-D5K001	DESKTOP, for Basic Users	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	24,793.60	0.00
52	43211507-D5K002	DESKTOP, for Mid-Range Users	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	42,390.40	0.00
53	43201827-HD-X02	EXTERNAL HARD DRIVE, 1TB	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,792.40	0.00
54	43211503-LAP001	LAPTOP, for Mid-range Users	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	42,380.00	0.00
55	43211503-LAP002	LAPTOP, Lightweight	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	46,800.00	0.00
56	43211708-MO-001	MOUSE, OPTICAL, USB connection type	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	Ò.	0	0	0.00	0	149.76	0.00
57	43212102-PR-D02	PRINTER, Impact, Dot Matrix, 24 pins, 136 columns	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	٥	38,100.97	0.00
58	43212102-PR-D01	PRINTER, Impact, Dot Matrix, 9 pins, 80 columns	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	10,189.92	0.00
59	43212105-PR-L01	PRINTER, Laser, Monochrome	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,636.89	0.00
LIGH	TING AND FIXTURES AN	ND ACCESSORIES	(OLES			NEEL WAR																BUY				
60	39101628-L5-L01	LIGHT-EMITTING DIODE (LED) LIGHT BULB, 7 watts	piece	.0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	75.61	0.00
61	39101628-LT-L01	LIGHT-EMITTING DIODE (LED) LINEAR TUBE, 18 watts	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	205.62	0.00
MAN	FACTURING COMPONE	INTS AND SUPPLIES		9612		348					38	Palite					YHJS				1					
62	31201610-GL-301	GLUE, all-purpose, 200 grams	jar	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	70.72	00.00
63	31151804-5W-H01	STAPLE WIRE, heavy duty (binder type), 23/13	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	22.55	0.00
64	31151804-5W-501	STAPLE WIRE, standard	bax	0	0	50	50	1,189.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	23.76	1,188.00
65	31201502-TA-E01	TAPE, electrical	roff	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	19.45	0.00
66	31201503-TA-M01	TAPE, masking, 24mm	Bon	0	0	50	50	3,094.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	61.88	3,094.00
67	31201503-TA-M0Z	TAPE, masking, 48 mm	roll	0	0	50	50	6,058.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	٥	0.00	50	121.16	6,058.00
68	31201517-TA-P01	TAPE, packaging, 48 mm	roll	0	0	30	30	670.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	Ó	0.00	30	22.36	670.80
69	31201512-TA-T01	TAPE, transparent, 24mm	llon	0	0	50	50	559.00	0	0	0	0	0.00	0	0	0	0	9.00	0	0	0	0	0.00	50	11.18	559.00
70	31201512-TA-T02	TAPE, transparent, 48 mm	roll	0	0	50	50	1,128.50	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	22.57	1,128.50
71	31151507-TW-P01	TWINE, plastic	rolt	0	0	5	5	333.10	0	0	0	0	0.00	0	0	0	0	0.00	0	0	.0	0	0.00	5	66.62	333.10
MEAS	URING AND OBSERVIN	IG AND TESTING EQUIPMENT	The Park								PARTIE!			100							用題言			APPENDEN	AT PULLE	
72	41111604-RU-P02	RULER, plastic, 450 mm	piece	0	0	5	5	83.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	16.64	83.20
OFFI	E EQUIPMENT AND ACC	CESSORIES AND SUPPLIES		Ny File		MIS							TEL											an a h		
73	44121612-BL-H01	BLADE, for general purpose cutter/utility knife, 10 pieces per tube	tube	0	0	S	5	74.10	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	14.82	74.10
74	44101602-PS-M01	BINDING AND PUNCHING MACHINE, 50mm binding capacity	unit	0	0	3	3	29,604.16	0	0	0	0	0.00	0	0	0	0	0.00	0	.0	0	0	0.00	3	9,534.72	28,604.16
75	44101807-CA-C01	CALCULATOR, Compact	unit	0	0	5	5	1,331.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	266.24	1,331.20
76	44121710-CH-W01	CHALK, white enamel, 100 pieces per box	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	32.97	0.00
77	44122105-BF-001	CLIP, backfold, 19mm	box	0	0	50	50	436,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	8.72	436.00
78	44122105-BF-C02	CLIP, backfold, 25mm	bax	0	0	50	50	737.50	0	0	0	0	0.00	0	0	٥	0	0.00	0	0	0	0	0.00	50	14.75	737.50
79	44122105-BF-C03	CLIP, backfold, 32mm	bax	0	0	50	50	1,278,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	25.56	1278.00

	of the state of th		Unit of	3 1					41			Month	ly Quanti	ty Requi	rement									Total Quantity	Price	Total Amount for the year
		Item & Specifications	Measure	Jan	Feb	Mar	Q1	QS AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EP THUOHA	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 25 July 2022)	
80	44122105-BF-C04	CLIP, beckfold, 50mm	bax	0	0	50	50	2,802.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	56,04	2,802.00
81	44121801-CT-R02	CORRECTION TAPE, 8 meters	piece	0	0	50	50	576.50	0	0	25	25	288.25	0	0	25	25	288.25	0	0	0	0	0.00	100	11.53	1,153.00
82	44121612-CU-H01	CUTTER/UTILITY KNIFE, for general purpose	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	33.43	0.00
83	44111515-DF-B01	DATA FILE BOX	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	77.20	0,00
84	44122011-DF-F01	DATA FOLDER	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	o	0.00	0.	68.64	0.00
85	44103202-D5-M01	DATING AND STAMPING MACHINE	piece	0	0	3	3	1,361.88	ō	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	453.96	1,361.88
86	44121506-EN-D01	ENVELOPE, Documentary, A4, 500 pieces per box	box	0	0	3	3	2,293.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	764.40	2,293.20
87	44121506-EN-D02	ENVELOPE, Documentary, legal, 500 pieces per box	bak	0	0	3	3	2,942.16	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	980.72	2,9-0.16
98	44121506-EN-X01	ENVELOPE, Expanding, Kraft, 100 pieces per box	bax	0	0	5	5	3,692.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	738.40	3,692.00
89	44121506-EN-X02	ENVELOPE, Expanding, Plastic	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	30.49	0.00
90	44121506-EN-M02	ENVELOPE, Mailing, 500 pieces per box	box	0	0	3	3	1,297.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	432.52	1,297.56
91	44121504-EN-W02	ENVELOPE, Mailing, with window, 500 pieces per box	box	0	0	3	3	1,466.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	468.90	1,466.40
92	441 11912-ER-B01	ERASER, felt, for blackboard/whiteboard	piece	0	0	5	5	57.05	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	11.41	\$7.05
93	44101714-FX-M01	FACSIMILE MACHINE	unit	0	0	0	0	0.00	0	0	0	0	0.00	.0	0	0	0	0.00	0	0	0	0	0.00	0	5,642.00	0.00
94	44122118-FA-P01	FASTENER, metal, non-sharp edges, 50 sets per box	bax	0	0	10	10	946.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	94.64	946.40
95	44111515-FO-X01	FILE ORGANIZER, expanding, plastic, legal	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	85.20	0.00
96	44122018-FT-D01	FILE TAB/INDEX DIVIDER, bristol board, A4	set	0	0	0	0	0.00	0	0	.0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	11.13	0.00
97	44122018-FT-D02	FILE TAB/INDEX DIVIDER, bristol board, legal	set	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	14.23	0.00
98	44122011-FO-F01	FOLDER, Fancy with slide, A4, 50 pieces per bundle	bundle	0	0	10	10	2,704.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	10	270.40	2,704.00
99	44122011-FO-F02	FOLDER, Fancy with slide, legal, 50 pieces per bundle	bundle	0	0	10	10	2,865.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	286.52	2,965.20
100	44122011-FO-L01	FOLDER, L-type, A4, 50 pieces per pack	pack	0	0	10	10	1,875.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	187.54	1,875.40
101	44122011-FO-L02	FOLDER, L-type, legal, 50 pieces per pack	pack	0	0	10	10	2,385.70	0	0	0	0	0.00	0	0	0	ō	0.00	0	0	0	0	0.00	10	238.57	2,385.70
102	44122027-PO-P01	FOLDER, pressboard, 100 pieces per box	bax	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	952.64	0.00
103	44122011-FO-T03	FOLDER with tab, A4, 100 pieces per pack	pack	0	0	10	10	2,891.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	289.12	2,891.20
104	44122011-PO-T04	FOLDER with tab, legal, 100 pieces per pack	pack	0	0	10	10	3,332.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	333.26	3,332.60
105	44122008-IT-T01	INDEX TAB, self-adhesive, transparent, 5 sets per box	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	63.11	0.00
106	44111515-MF-802	MAGAZINE FILE BOX, Large	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	41.60	0.00
107	44121716-MA-F01	MARKER, Flourescent, 3 colors per set	set	0	0	10	10	366.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	36.66	366.50
108	44121708-MP-801	MARKER, Permanent, Black	piece	0	0	24	24	179.28	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24	7.47	179.28
109	44121708-MP-802	MARKER, Permanent, Blue	plece	0	0	24	24	179.28	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24	7.47	179.28
110	44121708-MP-803	MARKER, Permanent, Red	piece	0	0	12	12	89.64	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12	7.47	99.64
111	44121708-MW-801	MARKER, Whiteboard, Black	piece	0	0	24	24	231.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24	9.65	231.60
112	44121706-MW-802	MARKER, Whiteboard, Blue	plece	0	0	24	24	231.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	24	9.65	231.60
113	44121708-MW-803	MARKER, Whiteboard, Red	piece	0	0	12	12	115.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	12	9.65	115.80
114	44122104-PC-G01	PAPER CLIP, vinly/plastic coated, 33mm	bax	0	0	50	50	441.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	8.62	441.00
115	44122104-PC-302	PAPER CLIP, vinly/plastic coated, jumbo, 50mm	bax	0	0	50	50	689.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	13.78	699.00
116	44101601-PT-M01	PAPER TRIMMER/CUTTING MACHINE, table top	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	9,297.60	0.00
117	44121706-PE-L01	PENCIL, lead/graphite, with eraser, one (1) dozen per box	bax	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	20.79	0,00
118	44121619-PS-M01	PENCIL SHARPENER, manual, single cutter head	piece	0	0	5	5	1,064.35	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	212.87	1,064.35

NA CO			Unit of		Marie .							Month	ly Quanti	ty Requi	rement									Total Quantity	Price Catalogue (c	Total Amount for the year
		Item & Specifications	Measure	Jan	Feb	Mar	Q1	QI AMUUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	QЗ	Q3 AHOUNT	Oct	Nov	Dec	Q4	Q4 AHOUNT	for the year	Catalogue (ar of 25 July 2022)	
119 44101602-	P-PU-P01	PUNCHER, paper, heavy duty	piece	0	0	5	5	754,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	150.90	754.00
120 44122037-	7-RB-P10	RING BINDER, plastic, 32 mm, 10 pieces per bundle	bundle	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	o o	274.23	0.00
121 44122101-	I-RU-B01	RUBBER BAND No. 18, 350g	box	0	0	5	5	676.00	.0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	135.20	676.00
122 44121905-	5-5P-P01	STAMP PAD, felt	piece	0	0	3	3	119.76	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	39.92	119.70
123 44121618-	9-55-501	SCISSORS, symmetrical or asymmetrical	pair	0	0	10	10	333.70	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	33.37	333. X
124 44121615-	5-ST-501	STAPLER, standard type	plece	0	0	10	10	1,456.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	145.60	1,456.00
125 44121615-	5-57-801	STAPLER, heavy duty (binder type), desktop	unit	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	888.15	0.00
126 44121613-	3-SR-P01	STAPLE REMOVER, plier type	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	27.87	0,00
127 44121605-	5-TD-T01	TAPE DISPENSER, table top	piece	0	O	10	10	728.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	72.80	728.00
PAPER MATERI	IALS AND PROD	UCTS																				17.3				日本日本公司法司法 国法国法院
120 14111525-	5-CA-A01	CARTOLINA, assorted colors, 20 pieces of assorted colors per pack	pack	0	0	0	0	0.00	.0	0	0	0	0,00	0	0	.0	0	0.00	0	0	0	0	0.00	0	83.72	0.00
129 14111506-	5-CF-L11	COMPUTER CONTINUOUS FORM, 1 ply, 280mm x 241mm, 2,000 sheets per box	bax	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	.0	0	0	0	0.00	0	982.55	0.00
130 14111506-	5-CF-L12	COMPUTER CONTINUOUS FORM, 1 ply, 280mm x 378mm, 2,000 sheets per box	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,166.88	0.00
131 14111506-	5-CF-L22	COMPUTER CONTINUOUS FORM, 2 ply, 280mm x 378mm, 1,000 sets per box	box	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,528.80	0.00
132 14111506-	5-CF-L21	COMPUTER CONTINUOUS FORM, 2 ply, 280mm x 241mm, 1,000 sets per box	bax	0	0	10	10	10,264.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	1,026.48	10,264.80
133 14111506-	5-CF-L31	COMPUTER CONTINUOUS FORM, 3 ply, 280mm x 241mm, 500 sets per box	box	0	0	10	10	7,904.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	10	790.40	7,904.00
134 14111506-	5-CF-L32	COMPUTER CONTINUOUS FORM, 3 ply, 280mm x 378mm, 500 sets per box	bax	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,506.00	0.00
135 14111609-	F-LL-C01	LOOSELEAF COVER, 50 sets per bundle	bundle	0	0	10	10	7,949.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	10	794.96	7,949.60
136 14111514	4-NP-502	NOTE PAD, stick on, 2" x 3", 100 sheets per pad	pad	0	0	50	50	1,853.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	37.06	1,853.00
137 14111514	4-NP-504	NOTE PAD, stick on, 3" x 4", 100 sheets per pad	pad	0	0	50	50	2,964.00	0	0	0	0	0.00	0	0	0	ō	0.00	0	Ó	0	0	0.00	50	59.28	2,964.00
138 14111514	4-NP-503	NOTE PAD, stick on, 3" x 3", 100 sheets per pad	pad	0	0	50	50	2,600.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	52.00	2,600.00
139 14111514	4-N8-501	NOTEBOOK, stenographer	piece	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	12.04	0.00
140 14111507-	7-PP-M01	PAPER, MULTICOPY A4, 500 sheets per ream	ream	0	0	267	257	44,228.55	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	267	165.65	44,228.55
141 14111507	7-PP-M02	PAPER, MULTICOPY LEGAL, 500 sheets per ream	ream	0	0	50	50	9,459.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	189 18	9,459.00
142 14111507	7-PP-C01	PAPER, MULTIPURPOSE A4, 500 sheets per ream	ream	0	0	30	30	4,132.20	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30	137.74	4,132.20
143 14111507	7-PP-C02	PAPER, MULTIPURPOSE LEGAL, 500 sheets per ream	ream	0	0	10	10	1,589.10	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	10	158.91	1,589.10
144 14111531	1-PP-R01	PAD PAPER, ruled	pad	0	0	0	0	0.00	0	0	.0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	21.53	0.00
145 14111503	3-PA-P01	PAPER, parchment, 100 sheets per box	bax	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	98.05	0.00
146 14111531	1-RE-801	RECORD BOOK, 300 PAGES	book	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	62.40	0.00
147 14111531	1-RE-802	RECORD BOOK, 500 PAGES	book	0	0	0	0	0.00	0	٥	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	104.00	00.0
148 14111818	8-TH-P02	THERMAL PAPER, 216mm	roll	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	55.64	0.00
149 14111704	4-TT-P04	TISSUE, INTERPOLDED PAPER TOWEL, 150 pulls per pack	pack	0	0	125	125	4,225.00	0	0	a	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	125	33.80	4,225.00
150 14111704	4-TT-P02	TOILET TISSUE PAPER, 2 ply, 12 rolls in a pack	pack	0	0	120	120	10,358.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	120	86.32	10,358.40
PERFUMES OR	R COLOGNES OR	FRAGRANCES		litter.		3	TXI			and I				1 3				TIM.			9276		E W	Statio.		
151 53131626	6-HS-501	LIQUID HAND SANITIZER, SOOML	bottle	0	0	50	50	4,042.50	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	50	80.85	4,042.50
PESTICIDES O	OR PEST REPELLI	INTS	1197			116						TE AND											TO SH	OUT ST	in a said	
152 10191509	9-IN-A01	INSECTICIDE, 600mL	can	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	139.36	0.00
PRINTED PUBL	LICATIONS			as he			-16		53 E8	1																
153 55101524	4-RA-H01	HANDBOOK ON PHILIPPINE GOVERNMENT PROCUREMENT (RA 9184)	book	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	37.21	0.00

		New & Considerations	Unit of								AGE	Month	ly Quanti	ty Requi	rement	7								Total Quantity	Price Catalogue (ss	Total Amount for the year
		Item & Specifications	Measure	Jan	Feb	Mar	Q1	QI AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	of 25 July 2022)	AND THE RESIDENCE
PRIN	ER OR FACSIMILE OR I	PHOTOCOPIER SUPPLIES (CONSUMABLES)	THE RES																	281						DANGE IN CONTROL OF THE PARTY O
1	44103109-BR-005	DRUM CARTRIDGE, BROTHER DR-3455, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,947.20	0.00
2	44103105-BR-804	INK CARTRIDGE, BROTHER LC67B, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	910.00	0.00
3	44103105-BR-805	INK CARTRIDGE, BROTHER LC67HYBK, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,601.60	0.00
4	44103105-CA-C04	INK CARTRIDGE, CANON CL-741, Colored	cart	0	0	30	30	33,789.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30	1,126.32	33,789.60
5	44103105-CA-C02	INK CARTRIDGE, CANON CL-811, Colored	cart	0	0	30	30	35,349.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30	1,179.32	35,349.60
6	44103105-CA-804	INK CARTRIDGE, CANON PG-740, Black	cart	0	0	30	30	25,833.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30	861.12	25,833.60
7	44103105-CA-802	INK CARTRIDGE, CANON PG-810, Black	cart	0	0	30	30	26,769.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	30	892.32	26,769.60
8	44103105-EP-817	INK CARTRIDGE, EPSON C13T664100 (T6641), Black	cart	0	0	5	5	1,248.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	249.60	1,249.00
9	44103105-EP-C17	INK CARTRIDGE, EPSON C13T664200 (T6642), Cyan	cart	0	0	5	5	1,248,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	249.60	1,248.00
10	44103105-EP-M17	INK CARTRIDGE, EPSON C13T664300 (T6643), Magenta	cart	0	0	5	5	1,248,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	249.60	1,248.00
11	44103105-EP-Y17	INK CARTRIDGE, EPSON C13T664400 (T6644), Yellow	cart	0	0	5	5	1,248.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	249.60	1,246.00
12	44103105-HP-840	INK CARTRIDGE, HP C2P04AA (HP62), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	852.80	0.00
13	44103105-HP-T40	INK CARTRIDGE, HP C2P06AA (HP62), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,048.32	0.00
1.4	44103105-HP-B09	INK CARTRIDGE, HP C9351AA (HP21), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	910.00	0.00
15	44103105-HP-T10	INK CARTRIDGE, HP C9352AA (HP22), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,053.52	0.00
16	44103105-HP-P48	INK CARTRIDGE, HP C9397A (HP72), 69ml, Photo Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,996.80	0.00
17	44103105-HP-C48	INK CARTRIDGE, HP C9398A (HP72), 69ml, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,996.80	0.00
18	44103105-HP-M48	INK CARTRIDGE, HP C9399A (HP72), 69ml, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,996.90	0.00
19	44103105-HP-Y48	INK CARTRIDGE, HP C9400A (HP72), 69ml, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,996.80	0.00
20	44103105-HP-G48	INK CARTRIDGE, HP C9401A (HP72), 69ml, Gray	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,995.80	0.00
21	44103105-HP-B46	INK CARTRIDGE, HP C9403A (HP72), 130ml, Matte Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,016.00	0.00
22	44103105-HP-817	INK CARTRIDGE, HP CC640WA (HP60), Black	cart	.0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	880.88	0.00
23	44103105-HP-T17	INK CARTRIDGE, HP CC643WA (HP60), Tri-color	cart	.0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,047.28	0.00
24	44103105-HP-B35	INK CARTRIDGE, HP CD887AA (HP703), Black	cart	0	0	5	5	2,095.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	419.12	2,095.60
25	44103105-HP-T35	INK CARTRIDGE, HP CD888AA (HP703), Tri-color	cart	0	0	5	5	2,095.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	419.12	2,095.60
26	44103105-HX-C40	INK CARTRIDGE, HP CD972AA (HP920XL), Cyan	cart	0	0	0	0	0.00	.0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	823.68	0.00
27	44103105-HX-M40	INK CARTRIDGE, HP CD973AA (HP920XL), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	823.68	0.00
28	44103105-HX-Y40	INK CARTRIDGE, HP CD974AA (HP920XL), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	823.68	0.60
29	44103105-HX-840	INK CARTRIDGE, HP CD975AA (HP920XL), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,541.28	0.00
30	44103105-HP-820	INK CARTRIDGE, HP CH561WA (HP61), Black	cart	0	0	5	5	4,326.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	865.28	4,326.40
31	44103105-HP-T20	INK CARTRIDGE, HP CH562WA (HP61), Tri-color	cart	0	0	5	5	5,330.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	1,066.00	5,330.00
32	44103105-HP-849	INK CARTRIDGE, HP CH565A (HP62), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	935,00	0.00
33	44103105-HP-C49	INK CARTRIDGE, HP CH566A (HP82), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	740.00	0.00
34	44103105-HP-M49	INK CARTRIDGE, HP CH567A (HP82), Magenta	cart	0	0	0	0	0.00	.0.	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	740,00	0.00
35	44103105-HP-Y49	INK CARTRIDGE, HP CH568A (HP82), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	740,00	0.00
36	44103105-HX-B43	INK CARTRIDGE, HP CN045AA (HP950XL), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,970.80	0.00
37	44103105-HX-C43	INK CARTRIDGE, HP CN046AA (HP951XL), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,517.36	0.00
38	44103105-HX-M43	INK CARTRIDGE, HP CN047AA (HP951XL), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	G	0	0.00	0	1,517.36	0.00

		Nam B. Cracifications	Unit of							N. L.		Month	ly Quanti	ty Requ	Irement	Parito		GES!	4-11-		WE!		May 18	Tetal Quantity	Price	Total Amount for the year
		Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1. AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q2 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 28 July 2022)	
39	44103105-HX-Y43	INK CARTRIDGE, HP CN048AA (HP951XL), Yellow	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,517.36	0.00
40	44103105-HP-836	INK CARTRIDGE, HP CN692AA (HP704), Black	cart	0	0	0	0	0.00	0	0	0	o	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	419.12	0.00
41	44103105-HP-T36	INK CARTRIDGE, HP CN693AA (HP704), Tri-color	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	419.12	0.00
42	44103105-HP-B33	INK CARTRIDGE, HP CZ107AA (HP678), Black	cart	0	0	5	5	2,022.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	404.56	2,022.90
43	44103105-HP-T33	INK CARTRIDGE, HP CZ108AA (HP678), Tri-color	cart	0	0	5	5	2,022.80	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	404.56	2,022.80
44	44103105-HP-842	INK CARTRIDGE, HP CZ121A (HP685A), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	312.00	0.00
45	44103105-HP-C33	INK CARTRIDGE, HP CZ122A (HP685A), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	256.88	0.00
46	44103105-HP-M33	INK CARTRIDGE, HP CZ123A (HP685A), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	256.88	0.00
47	44103105-HP-Y33	1NK CARTRIDGE, HP CZ124A (HP685A), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	256.88	0.00
48	44103105-HP-T43	INK CARTRIDGE, HP F6VZ6AA (HP680), Tri-color	cart	0	0	5	5	2,121.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	5	424.32	2,121.60
49	44103105-HP-843	INK CARTRIDGE, HP F6V27AA (HP680), Black	cart	0	0	5	5	2,121.60	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	:0	0.00	5	424.32	2,121.60
50	44103105-HP-C50	INK CARTRIDGE, HP LOSS1AA (HP955), Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	982.80	0.00
51	44103105-HP-M50	INK CARTRIDGE, HP LOSS4AA (HP95S), Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	962.80	0,00
52	44103105-HP-Y50	1NK CARTRIDGE, HP LOSS7AA (HP955), Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	962.80	0.00
53	44103105-HP-B50	INK CARTRIDGE, HP LOS60AA (HP955), Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	1,294,80	0.00
54	44103105-HX-C48	INK CARTRIDGE, HP LOS63AA (HP955XL), Cyan Original	cart	0	0	3	3	4,018.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	1,339.52	4,018.96
55	44103105-HX-M48	INK CARTRIDGE, HP LOSGGAA (HP955XL), Magenta	cart	0	0	3	3	4,018.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	1,339.52	4,018.56
56	44103105-HX-Y48	INK CARTRIDGE, HP LOS69AA (HP955XL), Yellow	cart	0	0	3	3	4,018.56	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	1,339.52	4,018.56
57	44103105-HX-848	INK CARTRIDGE, HP LOS72AA (HP955XL), Black Original	cert	0	0	3	3	5,453.76	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	3	1,817.92	5,453.76
58	44103105-HP-C51	INK CARTRIDGE, HP T6L89AA (HP905), Cyan Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	468.00	9.20
59	44103105-HP-M51	INK CARTRIDGE, HP T6L93AA (HP905), Magenta Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	468.00	0.00
60	44103105-HP-Y51	INK CARTRIDGE, HP T6L97AA (HP905), Yellow Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	D	0.00	0	0	0	0	0.00	0	468.00	0.00
61	44103105-HP-B51	INK CARTRIDGE, HP T6M01AA (HP905), Black Original	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	774.90	0.00
62	44103112-EP-R05	RIBBON CARTRIDGE, EPSON C13S015516 (#8750), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	77.43	0.00
63	44103112-EP-R13	RIBBON CARTRIDGE, EPSON C13S015632, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	77.94	0.00
64	44103112-EP-R07	RIBBON CARTRIDGE, EPSON C13S015S31 (S015086)	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	918.48	0.00
65	44103109-BR-D06	TONER CARTRIDGE, BROTHER DR-451CL, High Yield 3000	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,760.00	0.00
66	44103103-BR-B03	TONER CARTRIDGE, BROTHER TN-2025, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,685,28	0.00
67	44103303-8R-504	TONER CARTRIDGE, BROTHER TN-2130, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	1,892.80	0.00
68	44103103-BR-805	TONER CARTRIDGE, BROTHER TN-2150, Black	cart	0	0.	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,685,28	0.00
69	44103103-BR-B09	TONER CARTRIDGE, BROTHER TN-3320, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,567.20	0.00
70	44103103-8R-811	TONER CARTRIDGE, BROTHER TN-3350, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,002.40	6.00
71	44103103-BR-B15	TONER CARTRIDGE, BROTHER TN-3478, Black	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	0	5,575.44	0.00
72	44103103-BR-B16	TONER CARTRIDGE, BROTHER TN-456 Black, High Yield	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	4,564.56	0.00
73	44103103-8R-C03	TONER CARTRIDGE, BROTHER TN-456 Cyan, High Yield	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,716.80	0.00
74	44103103-BR-M03	TONER CARTRIDGE, BROTHER TN-456 Magenta, High Yield	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,716.80	5.00
75	44103103-BR-Y03	TONER CARTRIDGE, BROTHER TN-456 Yellow, High Yield	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,716.80	0.00
76	44103103-CA-800	TONER CARTRIDGE, CANON CRG-324 II	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	13,399.36	0,00
77	44103103-HP-B12	TONER CARTRIDGE, HP CB435A, Black	cart	0	0	2	2	6,196.40	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2	3,099.20	6,198.40

		Item & Specifications	Unit of	d in				Jura			e ingli	Monti	nly Quant	ity Requ	airement			755		41.20				Total Quantity	Price	Total Amount for the year
		Item & Spectications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ THUUDHA	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 20 July 2022)	
78 44103	103-HP-B14	TONER CARTRIDGE, HP CB540A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,603.60	0.0
79 44103	103-HP-B18	TONER CARTRIDGE, HP CE255A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,942.00	0.0
80 44103	103-HP-B21	TONER CARTRIDGE, HP CE278A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,741.92	0.0
81 44103	1103-HP-B22	TONER CARTRIDGE, HP CE285A (HP85A), Black	cart	0	0	2	2	6,485.44	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	2	3,242.72	6,485.4
82 44103	1103-HP-B23	TONER CARTRIDGE, HP CE310A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,350.40	0.00
83 44103	1103-HP-C23	TONER CARTRIDGE, HP CE311A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,610.40	0.00
84 44103	103-HP-Y23	TONER CARTRIDGE, HP CE312A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,610.40	0.00
85 44103	103-HP-M23	TONER CARTRIDGE, HP CE313A, Magenta	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,610.40	0.00
86 44103	103-HP-B24	TONER CARTRIDGE, HP CE32QA, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,192.90	0.00
87 44103	1103-HP-C24	TONER CARTRIDGE, HP CE321A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,083.60	0.00
88 44103	103-HP-Y24	TONER CARTRIDGE, HP CE322A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,083.60	0.00
89 44103	103-HP-M24	TONER CARTRIDGE, HP CE323A, Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	.0.	0	0	0	0.00	0	3,083.60	0.00
90 44103	103-HP-825	TONER CARTRIDGE, HP CE390A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,872.80	0.00
91 44103	103-HP-826	TONER CARTRIDGE, HP CE40GA, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,786.00	0.00
92 44103	103-HP-C26	TONER CARTRIDGE, HP CE401A, Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	10,103.60	0.00
93 44103	103-HP-Y26	TONER CARTRIDGE, HP CE402A, Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	10,193.04	0,00
94 44103	103-HP-M26	TONER CARTRIDGE, HP CE403A, Magenta	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	10,103.60	0.00
95 44103	103-HP-827	TONER CARTRIDGE, HP CE410A, (HP305), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,837.60	0.00
96 44103	103-HP-C27	TONER CARTRIDGE, HP CE411A, (HP305), Cyan	cart	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,011.20	0.00
97 44103	103-HP-Y27	TONER CARTRIDGE, HP CE412A, (HP305), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,460.00	0.00
98 44103	103-HP-M27	TONER CARTRIDGE, HP CE413A, (HP305), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,011.20	0.00
99 44103	103-HP-B28	TONER CARTRIDGE, HP CESOSA, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	4,050.80	0.00
100 44103	103-HX-B28	TONER CARTRIDGE, HP CESOSX, Black, high cap	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,332.00	0.00
101 44103	103-HP-852	TONER CARTRIDGE, HP CF217A (HP17A), Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,878.72	0.00
102 44103	103-HP-B53	TONER CARTRIDGE, HP CF226A (HP26A), Black LaserJet.	cart	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,246.80	0.00
103 44103	103-HP-B55	TONER CARTRIDGE, HP CF280A, LaserJet Pro M401/M425	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	4,690.40	0.00
104 44103	103-HP-851	TONER CARTRIDGE, HP CF280XC	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,359.52	0.00
105 44103	103-HP-856	TONER CARTRIDGE, HP CF281A (HP81A), Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	6.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,800.00	0.00
106 44103	103-HP-B57	TONER CARTRIDGE, HP CF283A (HP83A), LaserJet Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,034.72	0.00
107 44103	103-HX-B51	TONER CARTRIDGE, HP CF283XC (HPB3X), Black Contract L	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0.	0	0.00	0	0	0	0	0.00	0	3,796.00	0.00
108 44103	103-HP-858	TONER CARTRIDGE, HP CF287A (HP87), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	9,828.00	0.00
109 44103	103-HX-852	TONER CARTRIDGE, HP CF325XC (HP25X), Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	13,728.00	0.00
110 44103	103-HP-860	TONER CARTRIDGE, HP CF350A, Black Laserjet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,574.00	0.00
111 44103	103-HP-C60	TONER CARTRIDGE, HP CF351A, Cyan Laserjet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,652.00	0.00
112 44103	103-HP-Y60	TONER CARTRIDGE, HP CF352A, Yellow Laserjet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,652.00	9.00
113 44103	103-HP-M60	TONER CARTRIDGE, HP CF353A, Magenta Laserjet	cart	0	0	0	.0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,652,00	0.00
114 44103	103-HP-861	TONER CARTRIDGE, HP CF360A (HP508A), Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	o	7,030.40	0.00
115 44103	103-HP-C61	TONER CARTRIDGE, HP CF361A (HP508A), Cyan LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,814.00	0.00
116 44103	103-HP-Y61	TONER CARTRIDGE, HP CF362A (HP508A), Yellow LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,814.00	0,00

	Item & Specifications	Unit of									Month	ly Quanti	ity Requ	irement						V AUTO	To the		Total Quantity	Price Catalogue (ar	Total Amount for the year
	trem & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ THUOMA	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	ef 26 July 2022)	
117 44103103-HP-N	M61 TONER CARTRIDGE, HP CF363A (HP508A), Magenta LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,814.00	0,0
118 44103103-HP-6	TONER CARTRIDGE, HP CF-100A (HP201A), Black LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,099,20	0.0
119 44103103-HP-0	C62 TONER CARTRIDGE, HP CF401A (HP201A), Cyan LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	0	3,660.80	3.0
120 44103103-HP-Y	Y62. TONER CARTRIDGE, HP CF402A (HP201A), Yellow LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,660.80	0.0
121 44103103-HP-N	M62 TONER CARTRIDGE, HP CF403A (HP201A), Magenta LaserJet	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,660.90	0.0
122 44103103-HP-8	TONER CARTRIDGE, HP CF410A (HP410A), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,900.00	0.0
123 44103103-HX-6	BS4 TONER CARTRIDGE, HP CF410XC (HP410XC), Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,848.40	0.0
124 44103103-HP-0	C63 TONER CARTRIDGE, HP CF411A (HP410A), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,038.80	0.0
125 44103103-HX-0	TONER CARTRIDGE, HP CF411XC (HP410XC), Cyan	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,522.00	0.0
126 44103103-HP-Y	Y63 TONER CARTRIDGE, HP CF412A (HP410A), Yellow	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,038.80	0.0
127 44103103-HX-Y	TONER CARTRIDGE, HP CF412XC (HP410XC), Yellow	cart	0	0	0	0	0.00	0	0	0	O	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,522.90	0.0
128 44103103-HP-N	M63 TONER CARTRIDGE, HP CF413A (HP410A), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,038.80	0.0
129 44103103-HX-N	M54 TONER CARTRIDGE, HP CF413XC (HP410XC), Magenta	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0.	0	0	0,00	0	0	0	0	0.00	0	8,522.80	0.0
130 44103103-HP-E	TONER CARTRIDGE, HP Q2612A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,744.00	0.0
131 44103103-HP-E	TONER CARTRIDGE, HP Q7553A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	O	0	0	0	0.00	0	4,680.00	0.0
132 44103103-SA-6	TONER CARTRIDGE, SAMSUNG ML-D2850B, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	5,116.90	0.0
133 44103103-5A-8	TONER CARTRIDGE, SAMSUNG MLT-D101S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,484.00	0.0
134 44103103-SA-8	TONER CARTRIDGE, SAMSUNG MLT-D1035, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,689.44	0.0
135 44103103-5A-8	TONER CARTRIDGE, SAMSUNG MLT-D104S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	2,454.40	0.0
136 44103103-5A-6	TONER CARTRIDGE, SAMSUNG MLT-D105L, Black	cart	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	Q	0.00	0	0	0	0	0.00	0	3,380.00	0.0
137 44103103-5A-8	TONER CARTRIDGE, SAMSUNG MLT-D108S, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,289.52	0.0
138 44103103-5A-8	TONER CARTRIDGE, SAMSUNG MLT-D203E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	8,304.40	0.0
139 44103103-SA-6	TONER CARTRIDGE, SAMSUNG MLT-D2031, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	3,956 16	0.0
140 44103103-5A-8	TONER CARTRIDGE, SAMSUNG MLT-D203U, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	6,442.80	0.0
141 44103103-5A-6	B12 TONER CARTRIDGE, SAMSUNG MLT-D205E, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	7,321.14	6.0
142 44103103-5A-E	TONER CARTRIDGE, SAMSUNG MLT-D205L, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	4,533.36	0.0
143 44103103-SA-6	B10 TONER CARTRIDGE, SAMSUNG SCX-D6555A, Black	cart	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	4,066.40	0.0
SOFTWARE																				2.0					
1 43231513-SFT-	-001 Business function specific software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
2 43231602-SFT-	-002 Finance accounting and enterprise resource planning ERP software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
3 43232004-SFT-	-003 Computer game or entertainment software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
4 43232107-SFT-	Content authoring and editing software	license	D	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0.	0	0	0	0.00	0	0.00	0,0
5 43232202-SFT-	-005 Content management software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0,0
6 43232304-SFT-	-006 Data management and query software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	D	0	0	0.00	0	0.00	0,0
7 43232402-SFT-	-007 Development software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
8 43232505-SFT-	-008 Educational or reference software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
9 43232603-SFT-	-009 Industry specific software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
10 43233501-SFT-	-016 Information exchange software	license	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0
11 43232701-SFT-	-010 Network applications software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.0

		Unit of									Month	y Quanti	ity Requi	rement									Total Quantity for the year	Price Catalogue /ar	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ THUGHA	Oct	Nov	Dec	Q4	Q4 AMOUNT	70. 000 700	of 28 July 2022)	
		license	0	0	0	0	0.00	0	0	0	0	0,00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.00
43232802-5FT-011	Network management software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.00
43232905-SFT-012	Networking software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.00
43233004-SFT-013	Operating environment software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.00
43233205-SFT-014	Security and protection software	license	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0	0	0	0.00	0	0.00	0.00
43233405-SFT-015	Utility and device driver software MS NOT AVAILABLE AT PS-DBM BUT ARE REGULARLY PURCHA	1.1	ER SOL	URCES (Note: Ple	ase ind	licate pri	ce of ite	ms)		77776														
ART II. OTHER ITEM		cart		1	56	56	47,600.00				0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42. BK	cart			56	56	47,600.00			7	0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42, C	cart		1	56	56	47,600.00				0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42, GY	cart		+	56	56	47,500.00				0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42, LGY	cart		-	56	96	47,600.00				0	0.00				0	0.00				0	0.00	96	850.00	48,600.00
	INK CART, CANON PIXMA CLI-42. M	cart		+	56	56	47,500.00				0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42, PC		-	+	56	56	47,600.00	+			0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLI-42, PM	cart		+	56	56	47,600.00	-	-		0	0.00				0	0.00				0	0.00	56	850.00	47,600.00
	INK CART, CANON PIXMA CLJ-42. Y	cart			250	250	65,000.00	-			0	0.00			10	10	2,600.00				0	0.00	260	260.00	67,600.00
	INK BOTTLE, EPSON 003, black	cart		+	250	250	68,750.00	_		-	0	0.00			10	10	2,750.00				0	0.00	260	275.00	71,500.00
	INK BOTTLE, EPSON 903, cyun	cart		-	-	250	68,750.00	_	_		0	0.00			10	10	2,750.00				0	0.00	260	275.00	71,500.00
	INK BOTTLE, EPSON 003, magenta	cart	-	+-	250	-		-		-	0	0.00	+		10	10	2,750.00				0	0.00	260	275.00	71,500.00
	INK BOTTLE, EPSON 003, yellow	cart	-	+	250	250	68,750.00	+			0	0.00	-			0	0.00				0	0.00	210	590.00	123,900.00
	INK BOTTLE, EPSON 005, black	cart	-	+	210	210	-	-	-	-	0	0.00	-		10	10	4,500.00				0	0.00	210	450,00	94,500.00
	DNK BOTTLE, EPSON 001, black	cart	-	-	200	200	90,000.00	-	-	+-	0	0.00	+	-	10	10	2,950.00				0	0.00	210	295.00	61,950.00
	INK BOTTLE, EPSON 001, cyun	cart	_	_	200	200	59,000.0	-	+	+-		0.00	+	-	10	10	2,950.00	-	_		0	0.00	210	295.00	61,950.0
	INK BOTTLE, EPSON 001, magenta	cart		1	200	200	59,000.0	-	-	+	0	0.00	+		10	10	2,950.00	-		_	0	0.00	210	295.00	61,950.0
	INK BOTTLE, SPSON 601, yellow	cart	-		200	200	59,000.0	-	+	1	0	-	+		40	0	0.00				0	0.00	121	300.00	36,300.0
	INK BOTTLE HP GT52, cyan	cart	-		100	100	30,000.0	-	-	21	21	6,300.00	+	-		0	0.00	+			0	0.00	121	300.00	36,300.0
	INK BOTTLE, HP GT52, maganta	cart			100	100	_	-	-	21	21	6,300.00	-	-	-	0	0.00	+	+		0	0.00	121	300.00	36,300.0
	INK BOTTLE, HP GT52, yellow	cart			100	100	-	-	-	21	21	6,300.00	-	-	-	0	0.00	+	+-	+-	0	0.00	171	325.00	55,575.0
	INK BOTTLE, HP OTS3XL, black,	cart			150	150	46,750.0	0	-	21	21	6,825.00	-	-		0	0.00	+-	+	-	0	0.00	70	345.00	24,150.0
	INK CART, CANON PIXMA GI-790; , black	cart			50	50	17,250.0	0	-	20	20	6,900.00	-	+-	-	-		-	-	+	0	0.00	68	320.00	21,760.0
	INK CART, CANON PIXMA (H-790, cyun	cart			50	50	16,000.0	0	-	18	18	5,760.00	-	-	-	0	0.00	+		+-	0	0.00	58	320.00	21,760.0
	INK CART, CANON PIXMA GI-790, magenta	cart			50	50	16,000.0	0	-	18	18	5,760.00	+	+-	-	0	0.00	-	-	+	0	0.00	68	320.00	21,760.0
	INK CART, CANON PIXMA GI-790, yellow	cart			50	50	16,000.0	10	-	18	18	5,760.0	1		-	0	0.00	-	-	+	+	0.00	61	480.00	29,280.0
	INK CART, HP 704, black	cart			50	50	24,000.0	10		11	11	5,280.0	0	-		0	0.00	-	-	+	0	-	-	1/25/25/2	28,800.0
	INK CART, HP 704, colored	cert			50	50	24,000.0	00		10	10	-	0		-	0	0.00	-		-	0	0.00	60	480.00	122,690.0
	INK CART, HP 61, black	cart			110	110	****				0	0.00				0	0.00	-		-	0	0.00	110	1,115.00	151,800.0
	INK CART, HP 61, colored	cart			110	110	****	ø		1012-0-	0	0.00				0	0.00	-	-	-	0	0.00	110	-	104,275.0
	INK CART, HP 682, black	cart			115	115	55,775.0	00			0	0.00	_		100	100		-	-	-	0	0.00	215	465.00	104,275.0
	DSC CART, HP 682, colored	cart			115	115	55,775.	00			0	0.00		_	100	100	-	0	-	-	0	0.00	215	485.00	36,000.0
	TONER CART HF36A	cart			5	5	22,500.	00		3	3	13,500.0	00			0	0.00	-	-	-	0	0.00	8	4,500.00	19,750.0
	Disk CART, HP 932XL, black	cart			10	10	19,750	00			0	0.00				0	0.00				.0	0.00	10	1,975.00	19,790.0

SZEER!		Unit of		EN P			Y E				Month	y Quantity	Requirer	ment									Total Quantity for the year	Price Catalogue (m of 26 July 2022)	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	ED	Oct	Nov	Dec	Q4	Q4 AMOUNT			
		cart			10	10	47,950.00				0	0.00				0	0.00				0	0.00	10	4,795.00	4
	TONER CART, HP 125, black	cart			10	10	44,300.00				0	0.00				0	0.00			_	0	0.00	10	4,430.00	
	TONER CART, HP 125, cyun	cart			10	10	44,300.00	,			0	0.00				0	0.00				0	0.00	10	4,430.00	4
	TONER CART, HP 125A, yellow	22-11	-	+	10	10	44,300.0	-			0	0.00				0	0.00				0	0.00	10	4,430.00	4
	TONER CART, HP 125A, nugenta	cart	-	-	3	3	10,605.0	-			0	0.00				0	0.00				0	0.00	3	3,535,00	
	TONER CART, HP 30A	cart			4	4	46,320.0		1		0	0.00				0	0.00				0	0.00	4	12,090.00	
	TONER CART, HP 508A, syun	cart		-	-	4	48,320.0	+	-		0	0.00				0	0.00				0	0.00	4	12,080.00	
	TONER CART, HP 508A, yellow	cart	-	-	4			-	+	-	0	0.00				0	0.00				0	0.00	4	12,080.00	4
	TONER CART, HP 508A, magenta	cart	-	-	4	4	46,320.0	-	+	-	0	0.00				0	6.00				0	0.00	4	10,800.00	4
	TONER CART, HP 508A, black	cart	-	-	4	4	43,200.0		-	-	0	0.00		-		0	0.00				0	0.00	1	5,060.00	
	TONER CART, HP Q2612A, Mack	cart		-	1	1	5,060.00	-	-	-		0.00		-		0	0.00				0	0.00	1	3,975.00	
	TONER CART, HP 136A	cart			1	1	3,975.00	-	-	-	0		-			0	0.00				0	0.00	7	970.00	
	Ink Cart, C9351A, HP 21, black	cart				0	0.00	-	-	7	7	6,790.00	_	-	-	0	0.00	-		1	0	0.00	7	1,200.00	
	Ink Cart, C9352A, HP 22, tricolor	cart				0	0.00		-	7	7	8,400.00					0.00	-		+	0	0.00	10	1,500.00	
	Ink Cart, Canon Pixma for 750, POBK	cart				0	0.00		1	10	10	15,000.00				0	-	-	-	1	0	0.00	10	1,160.00	
	Ink Cart, Carion Pixera for 751, BK	cert				0	0.00			10	10	11,600.00				0	0.00	-	-		0	0.00	5	1,075.00	
	Ink Cast, Canon Pixmus for 751, cyan	cart				0	0.00			5	5	5,375.00	-			0	0.00	-	-	+	-		5	1,075.00	
	Ink Cart, Canon Pixma for 751, magenta	cart				0	0.00			5	5	5,375.00				0	0.00	-	-		0	0.00	5	1,075.00	
	Ink Curt, Camon Pixtus for 751, yellow	cart				0	0.00			5	5	5,375.00				0	0.00		-		0	0.00	-	600,00	
	Ink Cart, Canon Pisma, G1-790, Black	cart				0	0.00	4 4			0	0.00				0	0.00		-	-	0	0.00	0	600.00	
	Ink Cart, Canon Pixma, G1-790, Cyan	cart				0	0.00				0	0.00				0	0.00	-		-	0	0.00	0	0.000.000.00	
	Ink Cart. Cunon Pixma, G1-790, Maganta	cart				.0	0.00				0	0.00				0	0.00	-	-	-	0	0.00	0	600,00	
	Ink Cart, Canon Pixma, G1-790, Yellow	cart				0	0.00				0	0.00				0	0.00				0	0.00	0	600.00	
	Ink Cart, Canon PG-47, black	cart				0	0.00			10	10	4,750.00				0	0.00				0	0.00	10	475.00	
	Ink Cut, Canon PG-57, colored	cart	+			0	0.00			10	10	9,700.00				0	0.00				0	0.00	10	970.00	
				1		0	0.00			5	5	9,250.00				0	0.00				0	0.00	5	1,850.00	
	Ink Cart, HP 932XL, black	cart	+			0	0.00			5	5	4,750.00				0	0.00				0	0,00	5	950.00	
	Ink Curt, HP 933XL, cynn	cart	+-	+-	+-	0	+	-		5	5	4,750.00				0	0.00				0	0.00	5	950.00	
	Ink Cart, HP 933XL, magentu	cart	-	+	-	+		-		5	5	4,750.00				0	0.00				0	0.00	5	950.00	
	Ink Cart, HP 933XL, yellow	tart	-	-	-	0			-	5	5	8,100.00				0	0.00				0	0.00	5	1,620.00	
	Ink Cart, HPLOS63AA, HP 955XL, cyun	cert	-	_	-	0				5	5	8,100.00				0	0.00				0	0.00	.5	1,620.00	
	Ink Cart, HPLOS66AA, HP 955XL, magenta	cart	-		-	0	1	-	_		5	8,100.00			_	0	0.00				0	0.00	5	1,620.00	
	Ink Curt, HPLOS69AA, HP 955XL, yellow	cart	_		_	0		-		5	-				-	0	0.00	+	1		0	0,00	5	2,000.00	
	Ink Curt, HPLOS72AA, HP 955XL, black	cart				0	-		-	5	5	10,000.00			+	0	0.00	+	+-	+	0	0.00	2	4,200.00	
	Toner Cart, CE310A, HP 126A, black	cart				0	-			2	2	8,400.00			-	0	0.00	-		+	0	0.00		4,200.00	
	Toner Cart, CE311A, HP 126A, cyan	cart				0	0.0	0		2	2	8,400.00			+-	-	9.00	-	+-		0	0.00		4,200.00	
	Toner Cart, CE312A, HP 126A, yellow	cart				0	0.0	0		2					-	0		+	-		0	0.00	_	4,200.00	
	Toner Curt, CE313A, HP 126A, magenta	cert				0	0.0	0		2	_	-			-	0	0,00	-	-	+	0	0.00		5,800.00	
	Toner Cart, CE410A, HP 305A, black	cart				0	0.0	0		2	2	11,600.00	-		-	0	0.00	+	+	-	-	-	_	7,995.00	
	Toner Cart, CE411A, HP 305A, cyma	cart				0	0.0	0		2	2	15,990.00				0	0.00	+	+	+	0	0.00	_	_	
	Toner Cart, CE412A, HP 305A, yellow	cart				0	0.0	10		2	2	15,990.00				0	0.00				0	0.00	2	7,995.00	4

	Unit of				3.3	Name of				Month	sly Quan	tity Requ	irement					ale:				Total Quantity for the year	Price Catalogue (ar	Total Amount for the year
Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT		of 28 July 2022)	
Toner Cart, CE413A, HP 305A, magenta	cart				0	0.00			2	2	15,990.0	0			0	0.00				0	0,00	2	7,995.00	15,9
Toner Cart, CE505A, HP 05A, black	cart				0	0.00			2	2	11,640.0	0			0	0.00				0	0.00	2	5,820.00	11,6
Toner Cart, CE741A, HP 307A; cyan	cart				0	0.00			1	1	17,500.0	0			0	0.00				0	0.00	1	17,500.00	17,5
Toner Carl, CE742A, HP 307A, yellow	cart				ō	0.00			1	1	17,500.0	0			0	0.00				0	0.00	1	17,500.00	17,5
Toner Cart, CE743A, HP 307A, magentu	cart				0	0.00			1	1	17,500.0	0			0	0.00				0	0.00	1	17,500.00	17,5
Toner Cart, CF210A, HP 131A, black	cart				0	0.00			3	3	14,400.0	0			0	0.00				0	0.00	3	4,800.00	14,4
Toner Cart, CF211A, HP 131A, cyan	20007		-		0	0.00			2	2	11,900.0	1		1	0	0.00				0	0.00	2	5,950.00	11,9
Toner Cart. CF212A, HP 131A, yellow	cart		-		0	0.00			2	2	11,900.0	-			0	0.00				0	0.00	2	5,950.00	11,9
	cart		-	-	S-2	-			2	2	11,900.0				0	0.00				0	0.00	2	5,950.00	11,9
Toner Cart, CF233A, HP 131A, magenta	cart		-	-	0	0.00		-		-	-	+	-		0	0.00		_	1	0	0.00	2	5,000.00	10,0
Toner Cart, CF217A, HP 17A, black	cert		-	1	0	0.00			2	2	10,000.0	_	-		0	0.00	-	-		0	0.00	1	2,800.00	2.8
Toner Cart, CF248A, HP 48A, black	cart		-		0	0.00		-	1	1	2,800.0		-	-	-	-	-	-	-	0	0.00	5	4,200.00	21.0
Toner Cart, CF280A, HP 80A, black	cart				0	0.00			5	5	21,000.0		-	-	0	0.00	-	-	-	-	-	-		20.6
Toner Curt, CF283A, HP 83A, black	cart				0	0,00			5	5	20,650.0	10		-	0	0.00		-	-	0	0.00	5	4,130.00	7,9
Toner Cart, CF350A, HP 130A, black	cart				0	0.00			2	2	7,900.0	0		_	0	0.00				0	0.00	2	3,950.00	
Toner Cart, CF351A, HP 130A, cyan	cart				0	G.00			1	1	4,005.0	0			0	0.00				0	0.00	1	4,005.00	4,0
 Toner Cust, CF352A, HP 130A, yellow	cart				0	0.00			1	1	4,005.0	0			0	0.00				0	0.00	1	4,005.00	4,0
Toner Cart, CF353A, HP 130A, magunta	cart				0	0.00			1	1	4,005.0	0			0	0.00				0	0.00	1	4,005.00	4,0
 Diainfectant Liquid Solution (Chlorine Dioxide)					0	0.00				0	0.00			40	40	30,000.00				0	0.00	40	750.00	30,0
 Paper Towels, 30/packs per box					0	0.00				0	0.00			25	25	37,500.00				0	0.00	25	1,500.00	37,5
 Adhesive, instant glue, 1g					0	0.00				0	0.00			10	10	800.00				0	0.00	10	80.00	8
Tape, duct tape		_	1		0	0.00				0	0,00			10	10	1,050,00				0	0.00	10	105.00	1,0
Tupe, binding, 1 inches			_	1	0	0.00				0	0.00			10	10	1,500.00				0	0.00	10	150.00	1,4
Tape, binding, 2 inches		+			0	0.00				0	0.00			20	20	5,600.00				0	0.00	20	280.00	5,4
Tape, double adhesive, with foam, 1 inches		-	-		0	0.00	-			0	0.00			20	20	3,400.00				0	0.00	20	170.00	3,4
Tupe, double adhesive, with foam, 2 inches x 5m	-	-	+	-	0	0.00	-	-		0	0.00	+	1	12	12	2,340.00				0	0.00	12	195.00	2,3
	-	+-	-	-	-	-	-	-			+	+	+	20	20	2,100.00	-		1	0	0.00	20	105.00	2,
Tape, double adherive, without fourn, 1 inches		-	-	-	0	0.00	-	-		0	0.00	+	-	20	20	3,000.00	-	-		0	0.00	20	150.00	3,6
BINDER, 3-ring, D-type, A4, (1.5 inches), with insert clear-view pocket on front, back, and spine for label, color, black/navy blue		-	-	-	0	0.00	-	-	-	0	0.00	-	+	-	-	+	-	+	+	0	0.00	30	180.00	S,/
BINDER, 3-ring, D-type, A4, (2 inches), with insert clear-view pocket on front, buck and spine for lubel, color: black/navy blue		-			0	0.00	-	-	-	0	0.00	-	-	30	30	5,400.00	-	-	-	-	+	30	250.00	72
BINDER, 3-ring, D-type, A4. (3 inches), with insert clear-view packet on front, back and spine for label, color: black/navy blue					0	0.00	_		-	0.	0.00	-		30	30	7,500.00	-	-	-	0	0.00	-		5,
BINDER, 3-ring, D-type, legal, (1.5 inches), with insert clear-view pocket on front, back and spine for label, color: black/navy blue					0	0.00				0	0.00		-	30	30	5,400.00	-	-	-	0	0.00	30	180.00	
SENDER, 3-ring, D-type, legal, (2 inches), with insert clear-view pecket on front, back an spine for label, color: black/navy blue	d				0	0.00				0	0.00		-	30	30	7,500.00		-	-	0	0.00	30	250.00	7,
BINDER, 3-ring, D-type, legal, (3 inches), with insert clear-view pocket on front, back in spine for label, color: black/navy blue	d				0	0.00	-			0	0.00			30	30	8,400.00			_	0	0.00	30	280.00	8,
Board, specialty, short, off white/cream, 120gsm, 10 sheets/pack					0	0.00				0	0.00			30	30	1,500.00				0	0.00	30	50.00	1,
Board, specialty, long, blue, 10 sheets/pack					0	0.00				0	0.00			30	30	1,350.00				0	0.00	30	45.00	1,
Board, specialty, long, creum, 10 sheets/pack					0	0.00				0	0.00	8		30	30	1,350.00				0	0.00	30	45.00	1,
 Board, specialty, long, green, 10 sheets/pack					0	0.00				0	0.00			30	30	1,350.00				0	0,00	30	45.00	L.
Board, specialty, long, off white/cream, 120gam, 10 sheets/pack		1			0	0.00				0	0.00			50	50	2,250.00				0	0.00	50	45.00	2,
Index card, ruled, 5 inches x 8 inches, 500s/pack	1	+		-	0	0.00				0	0.00			5	5	1,025.00				0	0.00	5	205.00	1,0
Cartolina, 2 ply, pink		+-	+	-	0	0.00	-			0	0.00			20	20	180.00				0	0,00	20	9.00	1

		Unit of			7						Month	y Quanti	ty Require	ment									Total Quantity for the year	Price Catalogue (ar	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	ZQ THUOMA	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT		of 25 July 2022)	
The second	Cartolina, 2 ply, violet					0	0.00				0	0,00			20	20	180,00				0	0.00	20	9.00	
	Curtolina, 2 ply, white		-			0	0.00				0	0.00			20	20	180.00				0	0.00	20	9.00	
45-5	Cartolina, 2 ply, yellow	-				0	0.00				0	0.00			20	20	180.00				0	0.00	20	9.00	
	Certificate Holder, A4, black					0	0.00				0	0.00			100	100	7,000.00				0	0.00	100	70.00	
	Certificate Holder, A4, blue				1	0	0.00				0	0.00			100	100	7,000.00				0	0.00	100	70.00	
	Clear book. A4 size			-	-	0	0.00				0	0.00			30	30	1,200.00				0	0.00	30	40.00	
	Clear book, Joseph size			-	-	0	0.00				0	0.00			30	30	1,800.00				0	0.00	30	60.00	
	Clear sheet protector, refill, A4, 100 pcs./pack			-	-	0	0.00				0	0.00			45	45	15,750.00				0	0.00	45	350.00	
					-	0	0.00	-			0	0.00			30	30	12,000.00	/			0	0.00	30	400.00	3
	Clear sheet protector; refill, long. 100 pcs./pack			-	-	0	0.00	-			0	0.00			300	300	2,100.00				0	0,00	300	7.00	
	Cover, morocco, cut size: A4, assorted colors (Blue, Green, and Yellow)						-	-			0	0.00			100	100	900.00				0	0.00	100	9.00	
	Cover, marocco, cut size: long, ussorted colors			-		0	0.00			-	0	0.00			5	5	2,900.00				0	0.00	5	580.00	
	PVC Cover, A4, 100 pcs per box				-	0	0.00	-	-		0	0.00	+		5	5	3,050,00				0	0.00	5	610.00	
	PVC Cover, long, 100 pcs per box			-	-	0	0.00	-	-		-				5	5	2,500.00				0	0.00	5	500.00	
	PVC Cover, abort, 100 pcs per box			-	-	0	0,00	-	-		0	0.00	-	-	4	4	720.00				0	0.00	4	180.00	
	Blade, heavy duty (L500) 10 pcs per pack				-	0	0.00	-	-	-	0	0.00		-		60	4,200.00				0	0.00	60	70.00	
	Fastener, paper, vinyl coated, 50 sets per box				1	0	0.00		-	-	0	0,00	-	-	60		1,650.00				0	0.00	30	55.00	
	Folder, hard plastic, long, green, top clip					0	0.00			-	0	0.00			30	30	32,000.00				0	0.00	1000	32.00	
	Folder, pressboard, long, green, US					0	0.00			_	0	0.00	-		1000	1000	-				0	0.00	300	32.00	
	Folder, pressboard, long, white					0	0.00				0	0.00	-		300	300	9,600.00		-		-	0.00	100	23.00	
	Folder, sliding, A4, clear					0	0.00				0	0,00			100	100	2,300.00	-	-		0	0.00	200	25.00	
	Folder, eliding, long, cleur					0	0.00				0	0.00			200	200	5,000,00	-		-	0	0.00	100	12.00	
	Folder, sliding, long, morocco					0	0.00				0	0.00			100	100	1,200.00	-	_	-	0			33.00	
	ID Holder, plastic, 4 inches x 6 inches, with black lace					0	0.00				0	0.00			100	100	3,300.00	-		-	0	0.00	100		
	Laminating film, A4 size, 100 pes per box, thickness: 125 micron					0	0.00				0	0.00			5	5	4,625.00	-	-	-	0	0.00	5	925.00	
-	Notebook, 100 lasves, spiral					0	0.00				0	0.00			60	60	5,700.00				0	0.00	60	95.00	
	Paper sticker, A4 size, matte, white, 10 pcs per pack					0	0.00				0	0.00			30	30	1,950.00	-	-	_	0	0,00	30	65.00	
_	Paper, bond, A4, blue, 80gam					0	0.00				0	0.00			8	8	3,200.00			_	0	0.00	8	400.00	-
_	Paper, bond, A4, green, 80gsm					0	0.00				0	0.00			6	6	2,400.00				0	0.00	6	400.00	
	Puper, bond, A4, ocunge. 80gem					0	0.00				0	0,00			6	6	2,400.00				0	0.00	6	400:00	
	Paper, bond, A4, pink, 80gsm					0	0.00				0	0.00			8	8	3,200.00				0	0.00	8	400.00	
	Paper, bond, A4, yellow, 80gsm					0	0.00				0	0.00			6	6	2,400.00				0	0.00	6	400.00	
_	Paper, bond, long, blue. S0gsm					0	0.00				0	0.00			8	8	3,360.00				0	0.00	.8	420.00	
-	Paper, bond, long, green, 80gnm					0	0.00				0	0.00			6	6	2,520.00				0	0.00	6	420.00	
_	Perper, bond, long, pink, 80gsm					0	0.00				0	0.00			8	8	3,360.00				0	0.00	8	420.00	
	Paper, bond, long, yellow, 80gsm		-	+	1	0	0.00				0	0.00			7	7	2,940,00				0	0.00	7	420,00	
	Paper, Photo, matte A4, 20 pcs per pack		+	+	-	0	-	-			0	0.00			50	50	3,250.00	5			0	0.00	50	65.00	
	Paper, specialty, long, beige, 10 sheets/pack.		+	+		0	-	-			0	0.00			50	50	2,250.00)			0	0.00	50	45.00	
	Paper, specially, short, beigo/croim, 10 shests/pack		-	-	-	0			1		0	0.00			50	50	2,000.00)			0	0.00	50	40.00	
	Paper, speciary, unort, orago crusta, to mason poor. Ballpen, SP-S fine, black		+	-	-	0		-	-	1	0	0.00			200	200	5,800.0)			0	0.00	200	29.00	

		Unit of Measure					M. V				Month	ly Quant	ty Requi	rement	1 700								Total Quantity	Price Catalogue (ar of 28 July 2022)	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	25 TRUOMA	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ THUOMA	Oct	Nov	Dec	Q4	Q4 AHOUNT	for the year	of 28 July 2022)	
	Ballpen, BP-S fine, blue					0	0.00				0	0.00			200	200	5,800.00				0	0.00	200	29.00	s,eoo
	Ballpen, BP-S fine, green					0	0.00				0	0.00			120	120	3,480.00				0	0.00	120	29,00	3,460
1	Ballpen, BP-S fine, violet					0	0.00				0	0.00			120	120	3,480.00				0	0.00	120	29.00	3,460
	Ballpen, ordinary, black					0	0.00				0	0.00			200	200	1,500.00				0	0.00	200	7,50	1,500
	Sallpen, ordinary, blue					0	0,00				0	0.00			150	150	1,125.00				0	0.00	150	7.50	1,125
	Balipen, super grip, black, retractable					0	0.00				0	0.00			200	200	11,000.00				0	0.00	200	55.00	11,000
	Hallpen, super grip, blue, retractable					0	0.00				0	0.00			200	200	11,000.00				0	0,00	200	55.00	11,000
1	Ballpen, super grip, red, retractable					0	0.00				0	0.00			50	50	2,750.00				0	0.00	50	55.00	2,750
1	Pencil, lead, w/eraser, 0ne(1) dozen/box, # 2	1				D	0.00				0	0.00			30	30	2,700.00				0	0.00	30	90.00	2,700
+	Push pins, flat head type, assorted colors, 100 pcs per case					0	0.00				0	0.00			50	50	2,500.00				0	0.00	50	50.00	2,500
	Sticky Flag, sign here					0	0.00				0	0.00			100	100	22,000.00				0	0.00	100	220.00	22,000
	Lemon Fumiture Polish, furniture spray, 330ml					0	0.00				.0	0.00			30	30	12,000.00				0	0.00	30	400.00	12,000
						0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0
1						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
1						0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0
+						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
+		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	0
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		+				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		1				0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	0
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-		1		1	+	0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0
		1		_		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-				\vdash		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-		+		1	1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-		+	-			0	0.00	-			0	0.00				0	0.00				0	0.00	0	0.00	0
		+	_		1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
+						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-			1		1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-			-			0	0.00	1			0	0.00				0	0.00				0	0.00	0	0.00	0
		-				0	0.00		1		0	0.00				0	0.00		-		0	0.00	0	0.00	0
-		_	_		-	0	0.00	1			0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		-				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
			-	-	+	0	0.00	-			0	0.00				0	0.00		_		0	0.00	0	0.00	0
+			-		-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		+			1	0	0.00			-	0	0.00				0	0.00	-			0	0.00	0	0.00	0
-		-				0	0.00				0	0.00				0	0.00			-	0	0.00	0	0.00	0

Item & Specifications	Unit of									Month	ly Quant	ity Requ	irement			Ed.				1 /1/20		Total Quantity	Price	Total Amount for the year
ttem & specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EP	Oct	Nov	Dec	Q4	Q4 АМОИМТ	for the year	Catalogue (a of 28 Auty 2022)	
					0	0.00				0	0.00	- Sandan			0	0.00			A THE STATE OF THE	0	0.00	0	0.00	
					0	0.00		T		0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					D	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.6
					0	0.00	 			0	0.00				0	0.00				0	0.00	0	0.00	0.0
			-		0	0.00		-		0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00	1			0	0.00				0	0.00				0	0.00	0		0.0
					0	0.00	-	_		0	0.00				0	0.00			-	0	0.00	0	0.00	0.0
					0	0.00		-		0	0.00				0	0.00			-					0.0
					0	0.00				0	0.00				0	0.00			-	0	0.00	0	0.00	0.0
	_		_		0	0.00	-			0	0.00				0	0.00						0	0.00	0.0
					0	0.00				0	0.00				0	0.00			-	0	0.00	0	0.00	0.0
			_		0	0.00	-	-		0	0.00									0	0.00	0	0.00	0.0
	_		_		0	0.00	-	-		0.00	0.00				0	0.00			-	0	0.00	0	0.00	0.0
	_	-				-		-		0					0	0.00		-	-	0	0.00	0	0.00	0.00
					0	0.00		-		0	0.00			-	0	0.00	-	_	-	0	0.00	0	0.00	0.00
		-	_		0	0.00	-	-		0	0.00		_		0	0.00			-	0	0.00	0	0.00	0.00
	_		_		0	0.00		-		0	0.00				0	0.00	_		-	0	0.00	0	0.00	0.00
					0	0.00		-		0	0.00				0	0.00		-	-	0	0.00	0	0.00	0.00
					0	0.00	_	_		0	0.00				0	0.00		_	-	0	0.00	0	0.00	0.00
					0	0.00		-		0	0.00				0	0.00			_	0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00			_	0	0.00	.0	0.00	0.00
					0	0.00	-		_	0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00			_	0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0,00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	o	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					o	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				D	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00

Item & Specifications	Unit of									Month	ily Quant	ity Requi	irement					24				Total Quantity	Price Catalogue (v.	Total Amount for the year
ttem & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AHOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (as of 20 July 2022)	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	4
					0	0.00				0	0.00				٥	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				٥	0.00	0	0.00	
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				8	0.00	0	0.00	
					a	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	9
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		_			0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	
					0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	
					0	0.00				0	0.00		_		0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00	-			0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0,00				0	0.00				0	0,00	0	0.00	0
					0	0.00		-		0	0.00				0	00,00			-	0	0.00	0	0.00	0
					0	0.00				0	0.00				D	0.00				0	0.00	0	0.00	0
					0	0.00		-		0	0.00				0	00.00			-	0	0.00	0	0.00	0
					0	0.00				0	0,00	-			0	0.00			-	0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00		-		0	0.00				0	0.00			-	0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00			-	0	0.00	0	0.00	0.
			-		0	0.00	_			0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00	-			0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00	-			0	0.00				0	0.00			-	0	0.00	0	0.00	0.
					0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	0.

		Unit of	(76)			Agri		ħĽŽ			Month	nly Quan	tity Requi	rement		Ä		A II				Say	Total Quantity	Price Catalogue (v	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	QS AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q9 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (se of 28 July 2022)	
T						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	9
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	00.0				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0.	0.00				0	0.00	.0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				.0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				.0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.

ce Total Amount for the year	Price	Total Quantity									rement	ity Requi	ly Quant	Month		11.74							Unit of	Item & Specifications
ue (as 2022)	Catalogue (as of 20 July 2022)	for the year	Q4 AMOUNT	Q4	Dec	Nov	Oct	Q3 AMOUNT	Q3	Sept	Aug	July	Q2 AMOUNT	Q2	June	May	April	Q1 AMOUNT	Q1	Mar	Feb	Jan	Measure	
3	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0		1			
3	0.00	0	0.00	0				0,00	0				0.00	0				0.00	0					
,	0.00	0	0,00	0				0.00	0				0.00	0				0.00	0				<u></u>	
1	0.00	0	0,00	0				0.00	0				0.00	0				0,00	Ö					
i l	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
e l	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
8	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
	0.00	0	0.00	0				0.00	0				0.00	0			_	0.00	0					
A CONTRACTOR OF THE CONTRACTOR	0.00	0	0.00	0				0.00	0				0.00	0				0.00	0					
	0.00	0	0.00	0				0.00	0	_			0.00	0		_		0.00	0			\vdash		
	0.00	0	0.00	0		_		0.00	0				0.00	0		-	-	0.00	0				-	
	0.00	0	0.00	0				0.00	0				0.00	0			-	0.00	0					
	0.00	0	0.00	0				0.00	0		-		0.00	0	_	-	\rightarrow	0.00	0			\vdash		
	0.00	0	0.00	0				0.00	0				0.00	0	-			0.00	0					
	0.00	0	0.00	0				0.00	0			-	0.00	0			-	0.00	.0	_				
	0.00	0	0.00	0		-	_	0.00	0	-			0.00	0	-	-		0.00	0					
	0.00	0	0.00	0		_		0,00	0	-	_		0.00	0	-	-		0.00	0					
	0.00	0	0.00	0		_		0.00	0	-		-	0.00	0	-		-	0.00	0	_				
	0.00	0	0.00	0	-	-		0.00	0	-	_		0.00	0	-			0.00	0	\rightarrow				
	0.00	0	0.00	0	-		-	0.00	0		_	-	0.00	0	-	-	\rightarrow	0.00	0	-		-		
	0.00	0	0.00	0	-	-	-	0.00	0	-	-	-	0.00	0		-	-	0.00	0	-		-		
	0.00	0	0.00	0	-	\rightarrow	-	0.00	0	-	-	-	0.00	0		-	-	0.00	0	\rightarrow				
	0.00	0	0.00	0	-	-	-	0.00	0	-	-		0.00	0	-	-	\rightarrow	0.00	0	-				
	0.00	0	0.00	0		-	-	0.00	0	-	-	_	0.00	0		-	-	0.00	0	\rightarrow				
	0.00	0	0.00	0	-	-	-	0.00	0	-	-	-	0.00	0			-	0.00	0					
	0.00	0	0.00	0	-	-	-	0.00	0	-		_	0.00	0			-	0.00	0					
	0.00	0	0.00	0	-	-	-	0.00	0	-+		-	0.00	0				0.00	0	_				
	0.00	0	0.00	0	-			0.00	0	-	_		0.00	0	_			0.00	0	-				
-	0.00	0	0.00	0	_	-	-	0.00	0	-	-		0.00	0			_	0.00	0	_				
	0.00	0	0.00	0	-	-	-	0.00	0	+	+		0.00	0	-		-	0.00	0					
	0.00	0	0.00		-	-	-	0.00	0	+	-	-	0.00	0	+	-	1	0.00	0	-				
	0.00	0	0.00		-			0.00		-			0.00	0	+	+	\rightarrow	0.00	0					
	0.00	0	_	-			-	0.00			-		0.00	0	$\overline{}$		+	0.00	0	\rightarrow				
	0.00	0	0.00	_	+		-	0.00				-	0.00	0			\rightarrow	0.00	0					
	0.00	0	0.00	-	-	_	-	0.00				+	0.00	0			+	0.00	0	$\overline{}$				
	0.00	0	0.00	23	-	-	-	0.00		-			0.00	0			_	0.00	0			$\overline{}$		

	Unit of	E.								Month	ly Quanti	ty Requi	rement									Total Quantity	Price Catalogue (ac	Total Amount for the year
Item & Specifications	Unit of Measure	Jan	Feb	Mar	Q1	Q1. ANOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 25 July 2022)	
			The Co		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	9.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00	-			0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0,00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	0.00
					0	0.00				0	9.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				.0	0.00				0	0.00	_		_	0	0.00	0	0.00	0.00
					0	0.00				0	0.00	_			0	0.00			_	0	0.00	0	0.00	0.00
					0	0.00				0	0.00	_			0	0.00	_		-	0	0.00	0	0.00	0.00
					0	0.00		-		0	0.00				0	0.00	_			0	0.00	0	0.00	0.00
				-	0	0.00		_		0	0.00				0	0.00	-	-		0	0.00	0	0.00	0.00
				-	0	0.00	_			0	0.00				0	0.00	-	-		0	0.00	0	0.00	0.00
	-			-	0	0,00				0	0.00				0	0.00	-	_		0	0.00	0	0.00	0.00
				-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-			-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-			-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-		-	-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0,00
		-			0	0.00	_			0	0.00				0	0.00				0	0.00	0	0.00	0.00
	+			-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-			-	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
	-				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00

	Unit of	9			-74	Y = 0			148	Month	ly Quan	itity Requi	rement				Total C					Total Quantity for the year	Price Catalogue (w	Total Amount for the year
Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMQUNT	July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (ar of 28 July 2022)	
					0	0.00				0	0.00	_			0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	٥
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0,00				0	0,00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0,00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	C
					.0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					.0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	ø	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0:	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0

No. Process		Unit of	140			241	U5 14				Month	nly Quant	ity Requi	rement									Total Quantity	Price Catalogue (se of 28 July 2022)	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	Q1 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EĢ	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	of 28 July 2022)	
											0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0.00
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					1	0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	0.00
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		_				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		-				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0,00				0	0.00				0	0,00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0.00
			1			0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
				1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		1		1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		1				0	0.00			1	0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0,00				0	0.00	0	0.00	0.0
Company Comp						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
				_		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	9.0
			+			0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
Company Comp			1	1		-	-		1	1	0	0.00				0	0.00				0	0.00	0	0.00	0.0
		+		1		-	+				0	0.00				0	0.00				0	0.00	0	0.00	0.0
0 0.00 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0.00 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0.00 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00		+		1		+	-				0	0.00				0	0.00				0	0.00	0	0.00	0.0
0 0,00 0 0 0,00 0 0 0,00 0 0 0,00 0 0 0,00 0 0 0,00 0 0 0,00 0 0,00 0 0 0 0,00 0 0 0 0,00 0 0 0 0,00 0 0 0 0,00 0 0 0 0 0 0,00 0 0 0 0 0 0,00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0			1	1	1	-	+				0	0.00				0	0.00				0	0.00	0	0,00	0.0
0 0,00 0 0 0,00 0 0 0,00		-		1	-	+		-			0	0.00				0	0.00				0	0.00	0	0.00	0.0
0 0.00 0 0.00 0 0.00 0 0.00			+	+	+	-	-				0	0.00				0	0.00				0	0.00	0	0.00	0,0
				+	_	-			1	1	-	0.00				0	0.00				0	0.00	0.	0.00	0.0
				-		-		1			-		1			0	0.00				0	0.00	0	0.00	0.0
0 0,00 0 0,00 0 0,00 0 0,00		-		+		+		-		+	-	-				0	0.00				0	0,00	0	0.00	0.0

an Feb	Mar	Q1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00	April	Мау	June	Q2 0 0 0	0.00 0.00 0.00 0.00	July	Aug	Sept	Q3	1700000AAA	Oct	Nov	Dec	0	Q4 AMOUNT 0.00	for the year	Catalogue (se of 28 July 2022)	0.
		0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00				0	0.00					2.25						0	0.00	0
		0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00				0	0.00				0	0.00				Table 1	HE WALL			
		0 0 0 0 0 0	0.00					-					0.00				0	0.00	0	0.00	0.
		0 0 0 0 0	0.00				0	0.00			-	0	0.00				0	0.00	0	0.00	0.
		0 0 0	0.00				-	0.00				0	0.00				0	0.00	0	0.00	0.
		0 0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
		0	-	-			0	0,00				0	0.00				0	0.00	0	0.00	0
		0	(2200)				0	0.00				0	0.00				0	0.00	0	0.00	0
		-	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		0	0.00	+			0	0.00				0	0.00				0	0.00	0	0.00	
		0	0.00				0	0.00				.0	0.00				0	0.00	0	0.00	
		0	0.00	1	+		0	0.00				0	0.00				0	0.00	0	0.00	(
	-	0	0.00				0	0.00		111111111111111111111111111111111111111		0	0.00				0	0.00	0	0.00	
	+		0.00	+	1		0	0.00				Q	0.00				0	0.00	0	0.00	C
-	+	-	-		1		-	0.00				0	0.00				0	0.00	0	0.00	
	-	-	-	+	1		-	0.00				0	0.00				0	0.00	0	0.00)
-	+	10.00	10000	1	+	1	-	0.00				0	0.00				0	0.00	0	0.00	
-	+	-		-	1	+	-	0.00				0	0.00				0	0.00	0	0.00	
-	-	-	-	+	1	1		-				0	0.00			2	0	0.00	0	0.00	
-	+-	-	100	_	+		-	-				0	0.00				0	0.00	0	0.00	0
-	-	+	_	-	-		-	-				0	0.00				0	0.00	0	0.00	
-	+	-	_	+	+	1	-	-				0	0.00				0	0.00	0	0.00	
_	-	-	-	-	-		+	0.00				0	0.00				0	0.00	0	0.00	
_	-	-		_	1	1	-	0.00				0	0.00			1	0	0.00	0	0.00	
_	-		10000	-	+		+	0.00				0	0.00				0	0.00	0	0.00	
	_	-			+		-	-				0	0.00				0	0.00	0	0.00	
	_	-	-	-	+	+	-	-				0	0.00				0	0.00	0	0.00	
-	+	-	-		+	+	-	-				0	0.00				0	0.00	0	0.00	
		-		-	+-	+	-	-	-			0	0.00				0	0.00	0	0.00	
	-		_	+	+	-	+	-	-			0	0.00				0	0.00	0	0.00	
		_		-	+	-	0	-	_	1		0	0.00				0	0.00	0	0.00	
		-		-	-	-		-	+	1		0	0.00				0	0.00	0	0.00	
_		-	100000	-	-	-	-	+	-	1		0	0.00				0	0.00	0	0.00	
		-		-	+	-	-	-	+	1			0.00				0	0.00	0	0.00	
		-	-		+	+			_	-		0	0.00		1		0	0.00	0	0.00	
	-	-	_	-		-	7.000	-	_	1			0.00				0	0.00	0	0,00	
	-	_	-	_	+	-	-	100000	-	+	1		-				0	0.00	0	0.00	
		_	-	-	-	+	-	-	-	+	+	-	0.00				0	0.00	.0	0.00	
	_	-			+	+-	-		-	+		-	-		1		0	0.00	0	0.00	
			-	-	-	-	U	0.00		-	-	1.05%	1600000	-	+	1	0	0.00	0	0.00	
				0 0.00 0 0.00	0 0.00 0 0.00	0 0.00 0 0.00	0 0.00 0 0.00	0 000 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0	0 0,000	0 0.00 0 0 0.00 0 0.00 0 0.00 0 0 0.00 0 0 0.00 0 0 0.00 0 0 0 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0.00 0 0.00 0 0.00 0 0.00 0	0 000	0 000 00			0				

		Unit of		E oge				17			Month	nly Quant	ity Requi	rement									Total Quantity for the year	Price Catalogue (or	Total Amount for the year
	Item & Specifications	Unit of Measure	Jan	Feb	Mar	Q1	QS AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ TMUOMA	Oct	Nov	Dec	Q4	Q4 AMOUNT		of 28 July 2022)	
or sylven has been all and						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
-		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		1			1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
-		1				0	0.00				0	0.00				0	0.00			U	0	0.00	0	0,00	
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	
-			1			0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		1	1		1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			-	_		0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	
		-	+		1	0	0.00				0	0,00				0	0.00				0	0,00	0	0.00	
				1	1	0	0.00				0	0.00				0	0.00				0	0.00	ō	0.00	
			-	+	_	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		_	1		+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		_	-	+	1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			-	+		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			+		1	0	0.00	1			0	9.00				0	0.00				0	0.00	0	0.00	
			+	+		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
				-	_	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			-	1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			+	+	+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		-		+	+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
		-	-	-	-	0	0.00				0	-				0	0.00				0	0.00	0	0.00	
		-	1	+	+	0	0.00	1			0	-	+			0	0.00				0	0.00	0	0.00	
				+-	-	0	0.00	-			0	-	-			0	0.00				0	0.00	0	0,00	
			-	+-	-	0	0.00	+			0	-	_			0	0.00				0	0,00	0	0,00	
		-	-	+	+	0	0.00	+	1	1	0		-	1		0	0.00				0	0.00	0	0.00	
		-	+	-		0	0.00	-		+	0		-			0	0.00				0	0.00	0	0.00	

		Unit of			NEW Y	11-81					Month	ly Quar	ntity Requ	irement									Total Quantity for the year	Price Catalogue (as of 28 July 2022)	Total Amount for the year
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	QS AMOUNT	April	May	June	Q2	Q2 AMOUN	or July	Aug	Sept	Q3	Q3 AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	100 100	of 28 July 3022)	
						.0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
_						0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		+				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
		+				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		_	-	1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
			-		1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
		+	-		+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
			-		-	0	0.00	-			0	0.00				0	0.00				0	0.00	0	0.00	0.0
			-			0	0.00			1	0	0.00				0	0.00				0	0.00	0	0.00	0.0
		-	-		-	0	0.00		+		0	0.00				0	0.00				0	0.00	0	0.00	0.0
		+		-	+	0	9.00	1			0	0.00	,			0	0,00				0:	0.00	0	0.00	0.0
		-	-	+	+	0	0.00	-			0	0.00		1		0	0.00				0	0.00	0	0.00	0.0
		-	-	+	+	0	0.00	-	1		0	0.00	0			0	0.00				0	0.00	0	0.00	0.0
		-	-	-	-	0	0.00				0	0.00	0			0	0.00				0	0.00	0	0.00	0.0
		-	-	+		0	0.00	+	-	+ -	0	0.00				0	0.00				0	0.00	0	0,00	0.0
			-	+	+	0	0.00	+	+	-	0	0.00	-			0	0.00				0	0.00	0	0.00	0.0
		-	-	-	+	0	0.00	+	+	+	0	0.00				0	0.00				0	0.00	0	0.00	0.0
				+	+	0	0.00		-	-	0	0.00	_			0	0.00				0	0.00	0	0.00	0.0
			-	+-	-	-	0.00		-	+	0	0.00		1	+	0	0.00				0	0.00	0	0.00	0.0
			-	+-	-	0	0.00	-	+-	+	0	-		+		0	0.00				0	0.00	0	0,00	0.0
			1	+	-	0	0.00	-	+	+	0	0.00	_	+		0	0.00				0	0.00	0	0.00	0.0
				+		0	-	+	+	+-	0	-			-	0	0.00		1		0	0.00	0	0.00	0.0
			-	-		0	0.00	-	+	-	0	0.0	_	-	-	0	0.00	1			0	0.00	0	0.00	0.0
			-	+	-	0		+	+-	+	0	-	_	-	1	0	0.00	+		1	0	0.00	0	0.00	0.0
			-	-		0	0.00	-	+	+	0		-	+		0	0.00	+	_	1	0	0.00	0	0.00	0.0
			+-		-	0	0.00	-	+-	-	0	-		1	-	0	0.00	_			0	0,00	0	0.00	0.0
			+	-	-	0	-	-	+	+	0			-	-	0	0.00	_	+		0	0.00	0	0.00	0.0
			-		-	0		-		-	0	-		-	+-	0	0.00	+	1		0	0.00	+	0.00	0.0
			-	-	-	0		+		-	+	-	_	+	+-	0	0.00	-		1	0	0.00	_	0.00	0.0
			-	_	-	0	0.00	-			0	-		-	+	0	0.00	-			0	0.00	-	0.00	0.0
					+-	0	-	_			0	-		+		0	0.00	+			0	0.00		0.00	0.0
				4	-	0	0.00	-			0	-		-	+-	0	0.00	_	+		0	0.00		0.00	0.0
						0	_	_	-	-	0	-	_	-	+	0	0.00	_	+	+	0	0.00	-	0.00	0.0
						0	0.00				0	0.0	00			0	0.00		1	1	,	0.00	1		

		Unit of	Monthly Quantity Requirement														Total Quantity for the year	Price Catalogue (ar of 26 July 2022)	Total Amount for the year						
	Item & Specifications	Measure	Jan	Feb	Mar	Q1	QX AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	QЗ	ED THUOMA	Oct	Nov	Dec	Q4	Q4 AMOUNT	To the fact	of 25 July 2022)	
TERMINA						0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	0.
-						0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	. 0:
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00			1	0	0.00				0	0.00	0	0.00	0.
-						0	0.00				0	0,00				0	0.00				0	0.00	0	0.00	0.
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
				1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
				\vdash		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
-						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
						0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
-				1		0	0.00				D	0.00				0	0.00				0	0.00	0	0.00	
				+	1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
				+	+	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
				-		0	0.00	1			0	0.00				0	0.00				0	0.00	0	0.00	
			1	+		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
				+	1	0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			1	1		0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
			+	+		0	0.00	1			0	0.00				0	0.00				0	0.00	0	0.00	
			-	+	1	0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	
				1	-	0	-				0	0.00				0	0.00				0	0.00	0	0.00	
			+	+		0	-				0	0.00				0	0.00				0	0.00	0	0.00	
			+			0	-				0	0.00				0	0,00				0	0.00	0	0.00	
			-	+		0		1			0	0.00				0	0.00				0	0.00	0	0.00	
			-	+	_	0	-	1			0	0.00				0	0.00				0	0.00	0	0.00	
			-	+	-	0	-	+		1	0	0,00				0	0.00				0	0.00	0	0.00	
			-	-	+	0	_				0	0.00				0	0.00				0	0.00	0	0.00	
						0	-		_		0	0.00		1		0	0.00				0	0.00	0	0.00	

Item & Specifications	Unit of				100		Sept.			Month	ly Quanti	ity Requi	rement							y mi	99	Total Quantity	Price Catalogue (v	Total Amount for the year
trem of speculcations	Measure	Jan	Feb	Mar	Q1	QE AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ AMOUNT	Oct	Nov	Dec	Q4	Q4 AMOUNT	for the year	Catalogue (as of 25 July 2022)	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0,00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.6
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				. 0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.4
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0.6
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.6
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
	-				0	0.00	_			0	0.00				0	0.00	_			0	0.00	0	0.00	0.0
	1				0	0.00				0	0.00				0	0.00			-	0	0.00	0	0.00	0.0
	-				0	0.00	_			0	0.00			-	0	0.00		_		0	0.00	0	0.00	0.0
				_	0	0.00	_			0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00	_			0	0.00				0	0.00				0	0.00	0	0.00	0.0
	-				0	0.00	_			0	0.00				0	0.00		-		0	0.00	0	0.00	0.0
	-		-	_	0	0.00		-	_	0	0.00				0	0.00				0	0:00	0	0.00	0.
	-				0	0.00				0	0.00				0	0.00	-			0	0.00	0	0.00	0.
	+				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
	1		_		0	0.00		_		0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00		-		0	0.00				0	0.00				0	0.00	0	0.00	0.
	+ =				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
	+				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	9.
	1				0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
	1				0	0.00				0	0.00				0	0.00				0	0.00	0	0,00	0.1
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0,1
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0,0
					0	0,00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0,00				0	0.00				0 .	0.00	0	0.00	0.4
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0

Item & Specifications	Unit of Measure						1			Month	ly Quant	ity Requi	rement			NE.					100	Total Quantity for the year	Price Catalogue (ar of 25 July 2022)	Total Amount for the year
trem or abermostrous	Measure	Jan	Feb	Mar	Q1	Q2 AMOUNT	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ AMOUNT	Oct	Nov	Dec	Q4	Q4 AHOUNT		of 26 July 2022)	
					0	0.00			Date of the same	0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0,00				0	0.00				0	0.00	ů.	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00		1		0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00		/		0	0.00				0	0.00	0	0.00	0.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	2.0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.1
					0	0.00				0	0.00				0	0,00		_		0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	-	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	
					0	0.00		_		0	0.00				0	0.00				0	0.00	+	0.00	
					0	0.00				0	0,00				0	0.00				0	0.00		0.00	
					0	0.00				0	0.00				0	0.00			1	0	0.00	-	0.00	
					0	0.00				0	0.00				0	0.00				0	0.00	-	0.00	
					0	0.00				0	0.00				0	0.00		_		0	0.00	-	0.00	
					0	0.00				0	0.00				0	0.00			-	0	0,00	-	0.00	
					0	0.00				0	0.00				0	0.00			-	0	0.00	-	0.00	
					0	0.00				0	0.00				0	0.00		-	1	0	0.00		0.00	
					0	0.00				0	0.00				0	0.00	-	-	_	0	0.00		0.00	
					0	0.00				0	0.00				0	0.00		-		0	0.00	-	0.00	
					0	0.00				0	0.00			_	0	0.00	-	+	+	0	0.00		0.00	
					0	0.00				0	0.00			_	0	0.00		-	-	0	0.00	_	0.00	
					0	0.00				0	0.00		-	_	0	0.00	_	+-		0	0.00		0.00	
					0	0.00				0	0.00			_	0	0.00				0	-		0.00	
					0	0.00				0	0.00				0	0.00			_	0	-		0.00	
					0	0.00				0	0.00				0	0.00			_	0	-	_	0.00	
					0	0.00				0	0.00				0	0.00	_	-	-	0	-		0.00	
					0	0.00				0	0.00		_	-	0	0.00		-	+	0	_		0.00	
					0	0.00				0	0.00				0	0.00	_	_	-	0	-		0.00	+
					0	0.00				0	0.00				0	0.00		+	-	0		-	0.00	
					0	0.00				0	0.00			-	0	0.00	_	-	-	0	_		0.00	
					0	0.00				0	0.00				0	0.00				0	_		_	
					0	0,00				0	0.00				0	0.00				0	0.0	0 0	0.00	

Item & Specifications	Unit of				i di					Month	nly Quan	tity Requi	irement		N.		18 7			Pall		Total Quantity	Price Catalogue (ar of 38 July 2022)	Total Amount for the year
	Mensure	Jan	Feb	Mar	Q1	25 THUOMA	April	May	June	Q2	Q2 AMOUNT	July	Aug	Sept	Q3	EQ THUOHA	Oct	Nov	Dec	Q4	Q4 AMOUNT	100 700	of 28 3chy 2022)	
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	1.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
					0	0.00				0	0.00				0	0.00				0	0.00	0	0.00	0.00
A. TOTAL			100		141				Auto			ğ a									Will	•	MI TO	3,550,904.18
B. ADDITIONAL PROVISION FOR INFLATION (10% of TOTAL)									Ran		100		al Just		N.	100	Tel s	ASNI		NOTE OF				355,090.42
C. ADDITIONAL PROVISION FOR TRANSPORT AND FREIGHT COST (If Applicable)																					110	•		
D. GRAND TOTAL (A + B+ C)																								3,905,904.60
E. APPROVED BUDGET BY THE AGENCY HEAD In Figures and Words:			ME																					

We hereby warrant that the total amount reflected in this Annual Procurement Plan to procure the listed common-use supplies, materials, and equipment has been included in or is within our approved budget for the year.

Date Prepared: Sept 12, 2022

Prepared by:		Certified Funds Available / Certified Appropriate Funds Available:	Approved by:
	Solw	-L	PV Elon
GLENDA F	LANTACON	ABEGAIL GRACE M. MARALIT	REYNALDO V. EBORA
Property/S	Supply Officer	Accountant / Budget Officer	Head of Office/Agency